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ANALYSIS OF QUESTION PAPERS

S.No.

Exam Name and Year

Total Exam Papers

UPPCL

Assistant Accountant (HgT&eh WIETHN)

2016, 2018, 2019, 2020

4x200 = 800

2021 (25.2.2022 Shift-I)
2021 (25.2.2022 Shift-1I)
2021 (24.2.2022 Shift-I)
2021 (24.2.2022 Shift-1I)
2021 (22.2.2022 Shift-I)
2021 (22.2.2022 Shift-1I)

6x200 = 1200

Account Clerk (er@r feiftrer)

2021 (27.9.2021 Shift-I)
2021 (27.9.2021 Shift-1I)

2x200 =400

UPRVUNL

2021 (15.5.2022)

1 x200 =200

UPSSSC

2015 (22.11.2015)

1 x200 =200

UK SSSC

2020 (29.11.2020)
2019 (19.5.2019)
2018 (13.5.2018)
2017 (10.01.2017)
2016 (17.01.2016)

5 x 100 =500

MP Vyapam (PEB)

Accountant/Assistant Accountant/Account Officer

2018 (4.8.2018 Shift-I), 2018 (4.8.2018 Shift-II)

2 x 100 =200

2017 (7.1.2017 Shift-I), 2017 (7.1.2017 Shift-1I)
2017 (8.1.2017 Shift-I), 2017 (8.1.2017 Shift-IT)

2017 (9.1.2017 Shift-I), 2017 (9.1.2017 Shift-I1)

2017 (10.1.2017 Shift-T), 2017 (10.1.2017 Shift-IT)
2017 (11.1.2017 Shift-I), 2017 (11.1.2017 Shift-II)
2017 (12.1.2017 Shift-T), 2017 (12.1.2017 Shift-IT)
2017 (21.1.2017 Shift-I), 2017 (21.1.2017 Shift-II)
2017 (22.1.2017 Shift-), 2017 (22.1.2017 Shift-IT)
2017 (23.1.2017 Shift-), 2017 (23.1.2017 Shift-IT)

18 x 100 = 1800
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F. CGPSC
Assistant Account Officer 2015 1 x 100 =100
G. RPSC
Assistant Account/Junior Accountant 2011, 2015, 2016 3x150 =450
H. HPPSC
Assistant Account/Junior Accountant 2017 1x120 =120
I. | HPSSC
Accountant/Assistant Account/Junior Accountant/Clerk/ Divisional
Accounts/Accounts
2022 (14.6.2022, 5.6.2022, 29.5.2022, 22.5.2022, 8.5.2022, 27.2.2022) 6x100 = 600
2021 (13.8.2021, 5.8.2021, 1.8.2021, 16.2.2021,
16.2.2021 (Clerk) >x100=300
2020 (27.12.2020, Clerk) 2x100 =200
2019 (20.10.2019) 3x100 =300
2018, 2017 3x100 =300
J. | Haryana SSC
Accountant/Account  Assistant/Assistant ~ Account/  Divisional
Accountants/Section Officer Accounts/Junior Accountant
20.8.2021, 2.8.2021, 24.7.2021 3x100 =300
2019 3x100 =300
2016 3x100 =300
K. | Punjab Public Service Commission
Accountant 2011 (9.12.2011) 1x100 =100
Accountant 2013 (30.3.2013) 1x100 =100
Accountant 2014 (21.6.2014) 1x100 =100
L. | Other Examination
DDA 2017 (26.9.2017), DDA 2019 (27.3.2019) 2x100 =200
JMRC 2017 (20.5.2017) 1x100 =100
Total Papers = 78
Note : After due analysis of the above question papers, 9370 Questions related to

Accountant/Assistant Accountants/Junior Accountant Planner have been presented chapter

wise. Questions of repetitive and similar nature have been included so that the technique of

asking questions can benefit the competitors.
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01.

Basic Terminologies and Definitions in Accounting

@i W FATel yTagraett A giRarsmd

[

1. Fund means/%g (I¥ ) & a1 &:

(a) Current Assets/=Te] gREafEr

(b) Current Liability/=Te] It

(¢c) Working Capital/ﬂv'l’ﬁ'&’ﬂ?r ‘Fﬁ

(d) None of these/3TH T g T2

HPSSC Accountant 20.10.2019

Ans. (a) : Y YO e ¥ FHER FW A
TRemfat 81 B Yo fHeor I siqdie i afedle @
fereroT 21T @1 e ot § W o S = 9o o 2
2. Which of the following is not taken into

account in adjusting the cash balance?

kg I Y & U frafafga o @
TerErent @Ta W =& feram ar?
(a) Mistakes in the cash book
g &1 # e
(b) Mistakes in the pass book
T e H AT
(c) Bank charges debited in pass book
T g% # 2fae T T §F TR
(d) Interest and dividend credited in pass book
U g% # shfee fpar T A SR A
UPPCL Assistant Account 20.11.2016
Ans. (b) : UHS U¥ & FARINK F T99 T9 6 § 8
TeHferRl 1 e TE R S 2
3. Which of the following would be considered as
'Use of funds'?
frefafea ¥ & 8 ‘o= &1 Suam’ & ®9 §
AT ST Hehell &7
(a) a decrease in accounts receivable
e @ §
(b) a decrease in cash/7dl § FH
(c) an increase in account payable
e
(d) an increase in cash/7dl § gfs
MP PEB Group-II, 11 Jan. 2017 (2.00 pm)
Ans. (b) : {58 off T & &9 1 3TN, A6 UREeH
=, S S A @lE, FA oAaRal § &

T H wft % w9 F e S 2

4. Which of the following is an example of 'use of
funds'? .
frafaflga @ @ @9 ‘o9 & STET @ Tw
IETEAT &7

(a) Increase in fixed assets/T gREURT & gfe

(b) Increase in cash/AHg | gfs

(¢) Tax refund/®X aTawt

(d) Increase in any liability/fst «ff Tfea & gfs
MP PEB 12 Jan. 2017 (2.00 pm)
HPSSC Junior Accountant 2018

Ans. (a) : ¥ HT 3TAM (use of fund) or Application of]
funds—

1. 3%l & FOTHE & fquEE )

2. T uRewfe i 'l (3f5) 71

3. efamiferss F0T & A H |

4. e o #F 9t

5. T § A H

37a: WY & faswed & ouR TrRh uRewfy § afg woe

& TN F ST S

5. Which of the following accounts is not a

liability account?

“ear @’ frefaRae § @ @ Tl 82

(a) Accounts payable/ 3 @

(b) Accrued expenses / 3uifsta =13

(c) Cash/ T%s

(d) Notes payable/ e :ﬁ?:{:f

UPPCL Assistant Account 20.11.2016

Ans. (¢) : JFAY/IAMT 9@ T TN & R A
gt H FAT B 21 98 R 9= F§ 2@ g adw
EaEE W 91 S 81 & @il (Accounts Payable)
3URSd = (Accrued Expenses) @41 33 Ad (Notes
Payable) 7 Gt =g & /g1 & R e
FT B e Uhe FaGE H FEHE 21 IEH o
T s Rafe ferer % gl v § #@ )

6. Which of the following will have a credit
balance?

fr=fafaa ® @ forad shfee 91w grm?
A. Sales/ fernt

B. Capital/ sit

C. Salary/ a4

D. Rent paid/ f& arar

Choose the correct option

et fashed 5

(a) A and B/ A 3B

(b) Aand C/ A 3R C

(c) Band D/B 3D

(d) Cand D/ C 3R D

UPPCL Assistant Account 20.11.2016

Assistant Accountant Planner
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Ans. (a) : Sales A/c (Fsh @) & 9% g9 Cr. AT el
2, Wa & gt @i & ff 99 gAY Cr. BT 8,
ISt T § e STeRvT e R S wehe g

7. If the opening balance of cash in hand and at
bank is Rs. 2,00,000, expected receipts from
debtors are Rs. 2,50,000, cash sales amount to
Rs. 4,00,000, cash purchases amount to Rs.
1,50,000, payment to creditors and for expenses
are Rs. 2,20,000, then what will be the closing
cash and bank balance?

T 2,00,000 & T AR § WAl ki I
2,50,000 &. BT, Tehc Tersht St TT 4,00,000 5.
2, Tk TlE @t T 1,50,000 . B, S-SRI
o o T 3 == & ferg v 2,20,000 .
B as THIO Vehg 3R ok 9w == gem?
(a) Rs. 4,80,000/Z 4,80,000
(b) Rs. 4,70,000/ T 4,70,000
(¢) Rs. 4,60,000/F 4,60,000
(d) Rs. 5,00,000/Z 5,00,000

UPPCL Assistant Account 20.11.2016

Ans. (a) :

Cash A/C
To Balance b/d 2,00,000 By Purchases 1,50,000
To Sale 4,00,000 By Creditor's 2,20,000
To Debtors  2,50,000 By Balance c/d (B/f) 4,80,000

8,50,000 8,50,000

(c) Daily cash receipts and cash payments are
easily ascertained./2e e Tftqat 3R T
T ST § T T S & |

(d) None of these/3T8 T &g off Tt

UPPCL Assistant Account 09.02.2018

Ans. (a) : UHS-TE a1 &6 FI 9 TH T A1 [HF
¥ 2 o =eue Uoe g@=fl o9-a9 o1 9%e airal
T e # o e B S g1 Jese &
Héﬁﬂ%”ﬂﬁq(DebitBalance)@ﬁTél

gfafes & Yave e & fow 9ot a9-39 o o & forg
S0 1 AR FHE oH-SAl 1 ol % T @l o dl
FUTR TEE ¥ WE H T F g 8

T: T 7 5 foed (a) T 2

10. The debit balance, at the end of a year, in a

cash book, shows :
T o8 % 3iq § Tw Uohs o § Sfe 9w
e &:
(a) Total Cash paid during the year
% N A R T g Aoa

(b) Total cash received during the year

9 % dNH I Bl THS
(c) Income of the business entity

SIS SHE I 3T
(d) Cash in hand at the end of the given period

& ¢ arafy % ofF gy # T

UPPCL Assistant Account 29.01.2019

8. Cash book is used to record the following?

Tk o T YA frferiaa &1 Rerre
& ot femar srar §7
(a) all cash receipts only
Tz ;

(b) all cash payments only

4 Fohe YA
(c) all cash and credits sales

Tt Ta IR e fwt
(d) all receipts and payments of cash

TR gl I T g

UPPCL Assistant Account 20.11.2016

Ans. (d) : THS TEH a1 THS T4l - T5g &6 § 3N

3 TWd ¥ ¢ 9 Jbe sl oF-a & o fea

ST 1| T s IR o 1 TEh @ o e

it qen A B A A S @ Ushg g S

AR Foft we (Dr) 7o & SR o ve (Cr.) B 1 Ige

TS § Jbs B g wiad =B v (3fe) SR g
TRF S v () § forg s E)

9. Which of the following are the advantages of
Cash Book/f-=1 & & 91 g & =1 W €7

@

Ans.(d):ﬁ%ﬁﬁﬁﬁﬁw%ﬁ?waﬁf@ﬂ
T % 37 ¥ gy Jshg FecAidl 2| Ihs THF T8 Tl
At & R e g 5 T AEE de-aHl S ora (R
SE1 8, qo7 a9 & i # Wftqd (Dr.) § ¥ Fansi (Cr.)
I TR BEEY Uhe T fhar ST 21

11.

comprises of cash on hand and
demand deposits with bank.

................... f Tehg 91T 31 sieh o UTE | ST

ymftre &1

(a) Advances / 31030 (b) Cash/ qhs

(c) Deposits / SHI (d) Loans/ ®&UT

UPPCL Lekha Lipik 27.09.2021 (Shift-I)

Ans.(b):ﬁﬂ@ﬁmﬁqﬁaﬁﬁwqﬁw
vl 21 Uhs §W (Cash equivalents) 3TeqehIferss,
e e Y B ST ST § 9 wnn H Awd §
qRed gl § 3 S g # uRedT & U Hee
Sifgm & ol g &1 b, g% b &9 ¥ o9 g forgh
T4t foet, e SR g1 e wnfee §1 | S T SR
&1 @ 8 fored & et off g deen i g R e
SRR frapTeft ST gahelt 71
12.

Favorable balance of cash book means :

(a) Both of these/3 gt maﬁ%&waﬂws‘mwaﬁ%
(b) Any mistake in the book can be easily (a) Debit balance as per cash book
detected at the time of verification of The a8 & 3TER e oy
cash/q&Th F fopedt off Terdht &t emar ¥ Tl (b) Debit balance as per passbook
% G % I G AT S He & HISH h SIUR S o
Assistant Accountant Planner 8 YCT



(c) Credit balance as per cash book

U & & AR Hiee o
(d) None of the above/E’W{[?B T q B T
UK SSC Assistant Accountant 19.05.2019
Ans. (a) 3TFA WY T TH T5g T & o Hd &
el e U W Pol S GeT I A 21 g9 Ushg
T F ER e dd F w9 F ff I o 31 qW
v #, offga U Ui @ oo @ fenht w oS
AT |
13. Cash book is -
Vg T ¢
(a) Journal/ TSTTH/ SR el
(b) Voucher/ SHIUTH/ S
(c) Ledger/ @rm sl
(d) None of the above / 3TH | § HIg 781
UK SSC Assistant Accountant 17.01.2016
Ans.(c):maﬁﬁﬁ@@gﬁ%%\?ﬁﬁm"m%ﬁ?-
& & ACE W@ F Y dOR A S 21 98 g
fafeat & off Th = 2|
14.

Debit balance in cash book means:
Uerg ot o e 91w w1 a1 §
(a) Bank loan/s( F07
(b) Overdraft/3TeR g9
(c) Favourable balance/31%d ML
(d) Unfavourable balance/Sfdehet L)

MP PEB 12 Jan. 2017 (2.00 pm)
Ans. (¢) : U%hg o& & & & 8 g- 1. Sfee we 2.
Hfee g Sfae oy § WA I Wiaal & wfafe g
g, @1 e va § gue g @ e g g1 5w
ST 1 A hfee & A ¥ sfys gar @, @ Sfae 9
e 8, vfd siitqat s enfeer € 2, S oe|e &

““““““

foru srqpet fRefa 1 wafefa @ 2
15. Cash discount is allowed on
e ge Tora WX firereht 272
(a) purchases/@{g
(b) sales/fosht

(c) prompt payment/3fsl RUGIE
(d) All of these/a Tt

HPSSC Accountant 04.11.2017
CGAAO 2015

Ans. (¢) : T8 B2 S fashar 10 shar &1 feifa <= fafy
¥ wd o & e &9 % fau R s 21 T
fashatell g1 & ST arelt @' ufer @ S shar % g A
YT =1 we fafa i & & S 2

‘ IL. Accounts receivables (W&t ECI0))

16. Which statement the indirect

method is false?
YT JUTTSA & Faier H T 6w T 8-
(a) Depreciation expense is added to net
income./g¥9 T H S A= e} Trﬁ@T Sl %I
(b) An increase in accounts receivable is added to
net income./a9eRI | e H S AT i Gﬁ@T
e 2
(¢) An increase in accounts payable is added to
net income./Aerl # ged I s 3T i Gﬁ@T
S 2 |
(d) An increase in merchandise inventory is
subtracted from net income./a&ga F =i #
Sed I G A H § @ S
PUNJAB ASSISTANT ACCOUNTANT 3
Ans. (b) : 3TIIET JUTCT & Hag § 28 H94 % I @l
¥ Sl F s o | SeT I 2, a8 el § e
TUTE § TS TAR faawuT Y& 7 A FE G Y& [
21 5o oot &9 ¥, R I9g @ W @ o g
R fFel ¥ waftm 7& & # ST w6 g S
21 B9 T g oA @ T W @A O 9 Sy §
e T8 T uRETer dee 2
17. Discounts received are/RTa«l gl H
(a) deducted when we receive cash
e I B W T A §
(b) given by us when we sell goods on credit
59 g9 9 W Al S9d §, 79 gER g fe
e 2
(c) deducted by us when we pay our accounts
I g9 9 R F P W §, a9 g’
SR AT ST 7 |
(d) None of these/3TH T Hig T
HPSSC Accountant 01.08.2021
Ans. (¢) : T B2 TER 57 @l T gAHE A7 fashar 9
It et | o @lE goa # i 21 T8 TeR & ford
TS 9 9 S 31 FiH qe G T FHF AT ST
TR Farstt F @d F o @ AW A FH AR MR T
2 FBR F B 2
(1) =i FEt
(2) Aehe &g
18.

regarding

Size of receivable is affected by
st it an ..., BT goTfera Bret ¥
(a) Credit Policy/dm@ i
(b) Habits of Customers/JTgehl &l 3Tl
(c) Terms of payment/¥Tdr EIRG|
(d) All of these/TE T+t
HPSSC Accountant 05.08.2021
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Ans. (d) : T §OR @Q § S HG9E F WEE
oA H aeqel adr Harst & fosh & aRvmrEey Wi
W A AT B IRARE B E T F OER B
e e dTel Bk e 2-

1. 9@ HifT (Credit Policy)

2. fasht &1 =R (Level of Sale)

3. UR F I (Terms of Trade)

4. TTEH B A& (Habits of Customers)

‘ IR Accounts Payables (&H ©rdr)

19.

Invoices from vendors (suppliers) which are
due in 30 days should be credited to
ded (wemad) # sfeten, S 30 T # T Al
£ o Preferfiaa § thfee s wike
(a) accounts payable/ 3 T
(b) accounts receivable/ I @rdl
(c) purchase accounts/ $ha @rdl
(d) accounts transferable/ 3faRufE @rar

UPPCL Assistant Account 20.11.2016
Ans. (a): 37 T 8§ 37 A9-<1 1 Repie W@ & A1 s
ST @ e e adae # T Fh afs § e S
21 orfq A oA e e el I @ S 3
@ # foran s 2
20.

A purchase of office equipment as credit
requires a credit to :
HEATAT SUHRUT T SUN hd shfge (1)

Teram e € -
(a) Accounts payable / 3 T |
(b) Cash/Ts%g #
(c) Office expenses / FEea g |
(d) Equipment expenses / 3UHT =T §
UK SSC Assistant Accountant 19.05.2019

1v.

22.  Which of the following is NOT required while
vouching Sales Return?

forshar Ut ST GETU S S fefatea §
[ R avTH T &2
(a) Examine Debit Notes/SfaIe et &1 Sirg T
(b) Examine cut of points
HE 3 3 B ST HAT
(c) Examine Credit Notes/shf&< Tt 1 St HEAT
(d) Examine sales return book
[EERICIECIRSEACI RS e icacT
UPPCL Assistant Account 29.01.2019
Ans. (a) : ot Red &t ofe F@ wmg 2fee T
HETIHA & A 21 S e F srEvEEa %9 e
# gt 8 3R hfee die i ot fied & fow swma fan
S 2
23.

A returns inward book is kept to record .
fed gag 9o & e = & fog
T I 8-
(a) Return of anything sold

foshar ot T fopelt of g 1 Ao
(b) Return of anything purchased

9 1 T fRdt off awg S A
(¢) Return of goods sold/se T A FH ATIE
(d) Return of goods purchased

Tl T A A

UPPCL Assistant Account 29.01.2019

Ans. (¢) : T a9 2TE% Hs & R&E W & fau
foshar Aot Qe Wt S @ 7' 9% T et @ for
T § AT o aret T sk @ fasha Ao g §
TSt fopar ST 21

Ans. (a) AT SUHOT H SR 5T < @Il H i
() o 1 e g | 40 o ok
o fore W A %%@ Fl % o The ter"ms of sale were 2/10 net of g(,) The
gt ¢ 2o & &9 # famen s 2 debtor paid the sum on 21st January, 2018.
21.  Spontaneous financing includes.................. . How much should cash account be debited
wa: T SR IS hTaT & with?
(a) Accounts receivables/THER! T XYZ #ed Tz SO T 12 S, 2018 R Th
(b) Accounts payable/STaN @ TSR T 56,000 T = Toent wt off1 forshr =
(¢) Short-term loan/3Teq et F0T IEfr 30 § | 2/10 Y oftl TTER T 21 T e,
(d) A line of credit/FuT &t S@a 2018 S TRT &1 YA feFam Tehe @A B X
MP PEB 10 Jan. 2017 (2.00 pm) Teramm Sfere feram s =nfew
Ans. (b) : @ fai=a &t e 3| faamoT ﬁ g (a) Rs. 51,120/ %. 51,120
frafim, for sfifer & el § o @ @ Wi e (b) Rs. 54,800/ %. 54,800
o ;ﬁ;fﬁ ;‘g _§' W’m (T ﬂ?ﬁz () Rs. 54,880/ . 54,880
R . e SR (d) Rs. 52, 800/ . 52,800
I § 5 faet A axgvﬁ | UPPCL Lekha Lipik 27.09.2021 (Shift-I)
Assistant Accountant Planner 10 YCT



Ans. (¢) :
%ﬁmﬁﬁaﬁﬁ%ﬁﬁaﬁéﬁmwﬁq%%ﬁﬁﬁﬁ

10 f&F & & T3 § XYZ 59" & TAE & AW @
3 2% B & AT 7 RN g v ol AR W-
Net Sales = 56,000

Less : 2% Discount on 56,000 = 1,120
Amount Debited to Cash A/c of XYZ messer's 54,880
25. Balance of Opening debtors Rs. 48,000, Closing
debtors Rs. 60,000, Receipts from debtors during
the year, Rs. 1,00,000, Opening provision for bad
and doubtful debts Rs. 3,000 and Closing
provision for bad and doubtful debts is Rs. 5,000.
Find the amount of credit. sales.

TAERl W WRAWeR 99 T 48,000, AR HT
fam 9w T 60,000, a8 F I TSR A
gt  1,00,000, YRS A 5T WAL I
3,000 TAT HFfW FaA R/ YEUE T 5,000
IR Tershar &t THET 7T AN
(a) T 8,000 (b) T 90,000
(c) T 1,12,000 (d) T 58,000

RPSC Junior Accontant 2013

Ans. (¢) :

Credit sale = Cash received — opening debtors
+ closing Debtors

=1, 00,000 — 48,000 + 60, 000

Amount of Credit sale = Rs. 1,12,000

26.

Undercasting of sales book is correct by :

Torshar o W W T T AR Sl GERT 0@ E

(a) Debiting sales book/ farshal =gt i Sfee Fh

(b) Crediting sales book/ fashar a1t ST Fh

(c) Debiting purchase book/ %a @&l 1 Sfae
Fh

(d) Crediting purchase book / ¥ &I F e
Fh

UK SSC Assistant Accountant 17.01.2016
Ans. (b) : {5 o H 0 MU T AT FH GER faw
T2 4 hfee wh fhar S 21
27.

Following transactions were made by a trade.
Due to these transactions total of sales book
will be :

Ans. (a) 9 T 99 Faod 3UR faa &1 @r foar
ST 8 3 ok s ed £

31gfq — T[T 1 A S =3 4000

g &1 SUR A6l s =% 7000 ¥ AT SUR fsha & &9
4 R fpa s o fossa s& # A (4000 +
7000) = 11000 g7 |

[Note :- If the question is silent about cash or credit

transaction + name of party given = it is a CREDIT
transaction. So, 4000 + 7000 = 11000]

28.

Cost audit is to be conducted by a cost auditor
who is a/an...............

TN AT Tell Ueh T aaT gfiereh gnr

ST #F A A S T

(a) qualified cost and management accountant

I AN 3R Fee AEIHR
(b) qualified chartered accountant
TRE AWK
(c¢) qualified company secretary/?ﬁ"'q T Hiwre
(d) any indian resident/®E o “Refta framdt
MP PEB 04 Aug. 2018 Shift-1

Ans. (a) : AT oG G UH HUE AN @l Gl
g RIS e ST T SoAE An SR Weee
TEIHR & A6 98 379+ fads ¥ FYeargds and ot
F ol s g 98 de & g RO e
oo
29.

Sales invoices are first entered in
Toreht sfrsrent @t Uz ....... ® wiaE fRar srar 2
(a) Cash book/&& s&l
(b) The Sales Journal/fsht ECiE
(c) The Sales Account/fsrsl @Tar
(d) The Purchase Journal/sha NECiEE

HPSSC Accountant 01.08.2021
Ans. (b) : fsl <ol Tt fosht Totmm=n § << fpu S
21 U fochl <iSish 39 T &1 qler @ S AR et 3
T B AT H WEET TS kW S oad #
T9F fU e T S § 9w & o & o % w9
# & 1 & TS fohl SIS gER Wi 9E % T Te
¥ ot fopar ST ATel U a2

Teh =it ¥ o seer fwd ges forshar it ‘ Purchases (@)

T AT @ﬂT :

(i) Sold goods to Gupta =% 4,000 30. "A funds flow statement is prepared in

(ii) Sold goods to Shyam on cash =% 5,000 summary form to indicated changes occurring

(iii) Sold goods to Mohan on credit =¥ 7,000 in terms of financial condition between two

(i) T R | ST =2 4,000 different balance sheet dates". This is defined
i W e | 3T =X 5,000 by: .

(“)Wr ﬁmmg 7000 ‘e Faftr waTg foreRwr WX w9 § & fret g

((m)) % 11,000 (b) ;16 (’)00 i ' = i
a ) ) Q

(©) % 12,000 (d) 79,000 el aRerd T % o e fe s

UK SSC Assistant Accountant 29.11.2020 1" I R FI wfef &
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(a) Smith and Brown/f& 3R FR=A

(b) Foulke/®Eeh

(¢) Robert Anthony/Xae Tt

(d) None of these/3TH T FiE T

HSSC Accountat Assistant 20.08.2021

Ans. (a) : TS AR T & JTER- “T& FfY 79w
foar oR &9 § @ e oa-w ol & @9 e
feafy & = # 29 9 oRaddt 1 Wi F o daR
fepam St 21”7
31.

Which are the financial statements in which the
data or figures reported in the financial
statements are converted into percentages of a
common base amount?

HA-r foefta foaroft , S foftar feavofy o

e ferw T StfeRgl o Siehl I WTHTT SR

YT & wferera W uRafaa fewarm rar 72

(a) Vertical Size/3aTeR 3THR

(b) Horizontal Size/8ifee STHR

(c) Common Size/3HIAMT AN

(d) All of these/a Tt

HSSC Accountat Assistant 20.08.2021

Ans. (¢) : 3WINTS SR T 39 faawor 8, REd g&s
ifeh avq F TS A1 O & qod w1 Ffav &k w9 H
fegran ST @1 3GehT SUAT Feater favesor & fow fpan
St 8, foret forfer foenor &y dfth, a%g @ fEwo
% YR, 3MHH, HI TeM H &9 § g e & |
32.

Account to be credited on donation of goods
oA, T | Id "W e @ s s femen
ST, 9% #)

(a) Purchase Account/sha @Il

(b) Sales Account/farsha @rar

(c) Cash Account/IHg @Al

(d) Donation Account/sTT Qrdl

RPSC Junior Accontant 2013
CG AAO 2015

Ans. (a) : 39 FUR & fIT & @9 1 wef-med $w
o aF % &9 # 2 T 99§ v Refy § f wfafy
F I B
Charity/Donation A/C

To Purchase A/C
3@: A, I H &0 H9I I Wil (Purchase A/C)
ST (Credit) fopam sTam|
33.

Dr

Debit note is prepared for which transaction ?
AH-U fohT AH-27 & fou o fera <mar €2
(a) For purchase of goods / ATt F BT FH S g

(b) For cash sales of goods
HA H 6% fasha i & g

(¢) For purchase return / % aTadt S & forg
(d) For sales return / fsha aroedt &3 & forg
UK SSC Assistant Accountant 19.05.2019

Ans. (¢) T8 T %I A9 FE & AT TR fHEr S 2
S g fRar T A R HRuE aad S 92 q9

W T TR R S

34. The balance of Purchase Return book is
always:
HY TIHT TE T IS e BT §

(a) Debit / 2fee
(b) Debit or Credit/ fsie 1 %hfge
(¢) Credit/ hfee
(d) Neither debit nor credit/ 7 @ Sfae T & Hfee
UK SSC Assistant Accountant 17.01.2016
‘Ans.(c):WWWﬁﬂﬁa%%EﬁqaﬁTél ‘

3s.

Which of the following is not an analytical
procedure?

frafafas & @ wA-dt s faveuumaes

yerar & &7

(a) Tracing of purchases recurred
purchase book to purchase invoices

T Tl & o Tl s ¥ g il
T qaT ST

Comparing aggregate wages paid to number
of employees

FHARE % T & o e 5 T gd
T B g

Comparing the actual costs with standard
costs

T ANTGl kWY aTdfas Al g
AT
All of them are analytical procedure
F Tl forgeroneres Sfwar
MP PEB Asstt. Audior, AO 23 Jan. 2017 9.00 am
Ans. (a) : T Tl & g @lic gws § @ ol
&1 T AT feeryonerss sfwar & wnfter 7 2
36. Which of the following best describes the
meaning of Purchases?/fe=1 T 9T AT
‘e’ Y aRaTire SYaT 87
(a) Goods bought on credit
BUCRRCHE I HCES LY
(b) Goods bought for resale
(¢) Goods paid for
e e fore e fean e &
(d) Items bought/T{<r T8 7
HPSSC Accountant 20.10.2019/05.08.2021
Ans. (b) : 9 UHh FAEE I GIST g 9 &l &l
T HH F AT a5 a1 Farsii F AR A BT
B 21 A TH FauE e @ W wled % wwe
Fd ¥ W 2, T g SR Wi % 3fm wed &
FTEUM AR fbrd o 21

the

in

(b)

(c)

(d)

Assistant Accountant Planner
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37. Supplier Personal Account are seen in the

gfdferr e @rar # fo@t 3d R

(a) Sales Ledger/farsht @rameia!

(b) Nominal Ledger/AT# @Idleal

(c) General Ledger/HT9=I GIATeRI

(d) Purchase Ledger/shd GTdea

HPSSC Accountant 01.08.2021

Ans. (d) : ISR SARETT @1 g @ @ 7w
21 9 TEEd ¥ 39 gt & =afeTa @ g @
A =raa™ & e | Tl i 81 399 s wle
SR G F IH RS S E, AE I AR PIAA
fepam &1 2 &t fopar &

RYM Owner's Equity (@mft = wwem)

38.

..........

Which card makes a record of the receipt and
issue of material and is kept for each item of
stores carried?

-9 e uered W wif 3iR e @ uw

ARTEE ST TeheTl & R WER & Ueieh TE Bq

TET AT 87

(a) Post card/STsh 93

(b) Identity card/9gd 93

(c) Bin card/fs= FE

(d) None of these/3TH ¥ &g &t

HSSC Accountat Assistant 20.08.2021

Ans. (c) : T HTE— T 3T TFFRR F R H,
oot awgel ok Tl ¥ fU FeEmts wmW
ETeHS R W o e fopan St @ qen s |,
o Wi, frm ar el § o ot fm e @
3TN fba ST 2 SR W 9 F AR U gousee
M e &7 S 8 3R ueh fowi gen & S 2

39.

Calculate the amount of liabilities if Total
assets = Rs. 10,000, total liabilities = Rs. 10,000
and Total Capital = Rs. 5000
Tfe Fe aREufaat = 10,000 ., FHeT TIA =,
10,000 . 3t HeT YSHt = 5000 . T 7 SN
Y T =/ Ft?
(a) Rs. 6,000/ 6,000 %.
(b) Rs. 10,000/ 10,000 =.
(c) Rs. 5,000/ 5,000 %.
(d) Rs. 1,000/ 1,000 =.

UPPCL Assistant Account 20.11.2016
Ans. (¢) : Given Total Assets = 10,000
Total liability = 10,000
Total capital = 5,000
liabilities = ?
Liabilities + capital
10,000 = Liability + 5,000
Liability = 10,000 - 5,000
Liabilities = 5,000 Rs.

40. An organization has furniture for Rs. 90,000

cash Rs. 1,00,000, debtors Rs. 10,000, other
assets Rs. 1,000 and owner's equity is Rs.
90,000 What is the liability on the
organization? /fereft TeT T e 90,000 %.
T ¥, TRdT 1,00,000 %, ¥, T[REIRAT 10,000 %
@ ¢, o uREuraAt 1,000 € & ST w@HaT
90,000 &, Tt ¥ TS Y AT T &2
(a) Rs.2,01,000/% 2,01,000
(b) Rs. 1,11,000/% 1,11,000
(¢) Rs.2,90,000/% 2,90,000
(d) Rs, 2,91,000/% 2,91,000
UPPCL Assistant Account 20.11.2016
Ans. (b) : 3BT TG A & IR TH T H T
B % o8 T Gl e e @ S 3 v 2
= grfEl =4S + afE
let it is assumed that liability will be x.
= 2,01,000 = 90,000 + x
x =2,01,000 — 90,000
Liability on the organization = rs. 1,11,000.
41.  Assets = + Equity
= + qHAT
(a) Liabilities/ <Famd
(b) Capital/ gsit
(c) Long term debentures/ fefafies Fo-u3
(d) Bank over-draft/ EEC I ST
UPPCL Assistant Account 20.11.2016
Ans.(a):wﬁf=tiﬁﬁ+ é‘al'vlT@
rerta fopeft Teenm & gy U IS SR afet &% A %
e BT &1 I T H QA B goft § Sirer s
42.

Which of the following is not a part of
Shareholder’s equity?/f & & &= @T

SreReIeR W Tt T e Te 87

(a) Retained earnings/dferenia FATE

(b) Capital stock/ gt =541

(c) Additional paid-in capital

Fed TR W AARE e fehan
(d) Loans payable/3d 70T
UPPCL Assistant Account 09.02.2018

Ans. (d) : TUAT 3{97- 37 AT & AT T BAd &
ST $® SIfEH 337 Thd €, SHH od [EER ST
3YYeT HH AT 7, 3l A TS BV A A off g
H9 F Thd €, 37 STeenRat B enarer qoft e &, <&
s siwerd swer Ffed o o 9% € €, W@
HEA B AT FH S & AT A G @ A H FO
T frerr 21 afe e S AR @y e @i @ A 59
e STl e owier Sa td &1 HE % A &
SR Tk @ § uRadd FW W @ SR arww &
STER T AR e Ted-agd @ 8, 3 3w § wa
T B & wHAl AMERE B & WAfR o e g,
AR e & A |
a: fohed (d) TAR 9N o quar &1 e 7 2

Assistant Accountant Planner
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Retained Earnings

(faarRa 31m)

43. When actual loss is less than predetermined

loss, the difference is known as

Tfe arefaes g gafeifa e & &0 &, a

g WS HEATT &

(a) Normal Loss/dmr=4 g

(b) Abnormal Loss/3T9MH g1

(c) Abnormal gain/3THH oY

(d) None of these/3TH T i T

HPSSC Accountant 20.10.2019

Ans.(c):aﬁaﬁmﬁﬁtﬁﬁﬂﬁﬁgﬁﬁwﬁﬁ
Tt Rafy & s oW @ @ Sefh A At @i
7@ fuiRa a1 & e & @ 98 S g FHearnd
2
44,

Retained earnings statement depicts:

gfereniia SHTS SaTar 8-

(a) appropriation of profits/c¥q <hl fafer=m

(b) estimates of profit/aT¥ &I A

(c) estimates of costs/cTTd I 3TTHA

(d) None of the options/fa&ed § HE Tl
PUNJAB ASSISTANT ACCOUNTANT 3

Ans. (a) : IeTRa HAE @9 e W U & ant §

FAT TC ATl 1 98 e 81 @ S Sl e % dR W

FleT & T qA FE A Wi § ween § few st

Qe % AR W e I AN H A ST b 81 T8

Al w1 fafrer seem 81w o # ¥ & v v &

Ty T B A 21 T G b o9 Bl G g AfersA

# fad & o9 & &9 F ¥4 R S 2

45.

The summarized balance sheet of Autolight
Limited shows the balances of previous and
current year of retained earnings Rs. 25,000
and Rs. 35,000. If dividend paid during the
current year amounted to Rs. 5,000 then profit
earned during the year will be/3ﬁﬁ?l‘l32‘

fafies #t dau sorw v fUser v =eg ad
I FlemRa wuTS st 99 WHT 25,000 TIF AR
35,000 T g9TE W {1 Afg o 96 & G
WA feRS T FTT9T Rt AT 5000 TUF E A
o6 o R AT T B

(a) Rs. 5,000 (b) Rs. 55,000

(c) Rs. 15,000 (d) Rs. 65,000
MP PEB 23 Jan. 2017 (2.00 pm)

Ans. (¢) : Earned Profit = 35000
Previous year profit — 25000
Before paying divisible profit 10000
+ Payment of Dividend 5000
Earned Profit 15000

The formula, (1-t1)%x100, may be used

for

LE] (1-t1)1]ifs><100, fraer fog wgew @

HeheT &7
(a) Cost of equity capital/SHdT ‘CI\Trﬁ H AT
(b) Cost of retained earnings/dferenid 3T &l
SING
(c) Cost of Preference share capital
Taifeepr 3fer €57 arT
(d) Cost of debt capital/F0T STt St AN
HPSSC Accountant 20.10.2019
Ans. (b) : IEIRA 31 & @A a8 UM & ¢ fome
yfaenRa o W aneRa T w Iwiia fmar s
YIS 8, AR T P R THH IWeK ad g S
forerersh o1oelt sfer ot W T S T ST W@ 2
SR ST o A = (1-,) > 100
MP
47.

Earnings that have a cumulative amount are
not paid to the stock holder as a dividend is

known as/WTferal, ST Ueh Wiwa AT § 3iR

ST T ST % ®a H & e e €,

STt et ®

(a) Retained Earnings/3feemia it

(b) Common Earnings/ST&RuT et

(c) Preferred Earnings/31fera et

(d) Non-paid Earnings/3T9&d Sifeat

HPSSC Accountant 05.08.2021

Ans. (a) : SaeRd 39 § a9 @ S e § S g
st &t Tl off AT 3T IW IR Ul B AN F
& A T R T o, 39 a9 3% AT g
Gfea @ T an

RU1IMN Miscellancous (farfen)

48.

Fee not received is not treated as income in
case of Chartered Accountent because

LS THES<<E & WY H JUH Yok hl

T o ®Y § A& WET ST, iR

(a) Concept of objectivity/fasafedr = stagmon

(b) Realisation/ageil

(c) Cost Concept/<IiTd ATHRON

(d) All of these/a8 Tt

HPSSC Accountant 05.08.2021

Ans. (b) : 5@ T et off 9ew o =EEE H R of
e F age T Bt 9 a% F T A T F
T T @ G 21 o 9eE wERew ff TE AN
=6 ¢ | THIT 37T Yosh b 3 T HAT ST

Assistant Accountant Planner
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49. What is the main purpose of financial

accounting?
ferchiar ergien &1 T&T waeE §
(a) To organize financial information
fordta g dafed s
(b) To provide useful financial information to
outsiders
s A A STt forftE gEAT W' S
(c) To keep track of company expenses
HIA % WA W TR T
(d) To minimize company taxes
HuAr & A B FA-Y-FH TG
UPPCL Assistant Account 20.11.2016
Ans. (b) : fRa @i &1 32 foaxfia oAl &t Tgae
HTAT PN ST § @ HLAT TN IR T L 39
- @ qen Refe e R Fawe #t i
et # Gfd w1 71 foefa o fiE aeeEt
F e R 99 TH Agw@qul qaAr o HA B AwA
21 98 Tl gEA & u-g | &, e
Afcat s Fd wT G P Rafq Ja FE e
50.

Which equation is followed by Accounting
Equation Approach for Sole proprietorship?

AT iR Tehel @it o fg aan
weftertur SR ¥ WreT feRar raT &2
(a) Assets = Liabilities x Owner’s equity
Frfar = @ x @l & gEar
(b) Assets = Liabilities + Owner’s equity
gl = I + @l # g
(c) Assets = Liabilities/ Capital
grfat = Ao /den
(d) Assets = Liabilities — Shareholder’s equity
et = AT — IR H FHA
UPPCL Assistant Account 09.02.2018,29.01.2019

52. Rent outstanding for the month of December

12 will appear on-
12 feawaR /g a1 31ged et fe@man S -
(a) Debit side of Cash Book
g Tw® & Sfoe w1 §
(b) Credit side of Cash Book
Thg T&H & shiee oo |
(c) Either side/fordt «ff w7 &
(d) No where/agl R &t
PUNJAB ASSISTANT ACCOUNTANT 3
Ans. (d) : 2012 fEEw=R 4@ &0 fhUen S 376" @ a8 o
g T # & T Ui s (A deae % el @ )
feman ser @ @ 39 W@ 39 U B Refy fawor #
e et & =] Ay # e s 21 59 ks &
T T femrn ST 8 i 98 P S oS Té T &
53.

Vendor not sends credit note to purchaser on :
Tershat gRT hat @ shfge e Ot T Tt -
(a) Undercharging of goods

S N Jod HH AN T
(b) Excess goods remitted

e Ht Al AT A9 W

(c) Discount allowed at a lower rate than

decided/f¥ad & ¥ &7 Fe2T @TH W

(d) Undercasting of invoice by omission

TAGYT IS T AN FH @ S T
RPSC Junior Accontant 2011
Ans. (¢) : hise e, N9 e 70 & &9 & of S0
ST 21 feshar 5 ST oA e w Ao e @
3R fogham 1 37 TR F 0 @9 W TlER H AT S
21 o fAfdd X ¥ F7 931 AT W fashar gRT st &

Ans. (b) : TRaiHT &I fha & TRome @ T T &
&9 ¥ e fepar ST FebaT B
TrfyEl = A + @ifa e
Assest = Liabilities + Owner's equity
a1 (Or)
FrafEt = A + et
Assest = Liabilities + Capital
Discount allowed for prompt payment is called

51.

a

yiter [T o T TR T S eT S R

(a) Rebate discount/®2 Il B

(b) Trade discount/=dRE B

(c) Quality discount/Torax &<

(d) Cash discount/hs B

UPPCL Assistant Account 29.01.2019

Ans. (d) : T2 2 TH (UifRa 22 § S I®F H T
%9 e faha W o 21 As B fashar gRT Shar
s fwifRe ffy § vedt e % 999 Sa fpar S 2
T A T w2 o el ST 2

Shiee e dsht & St 21
54.

If the loan from wife is assumed to be given out
of her personal property, then position of such
loan is like :

afg aelt g7 fe& & /U F IHAT AR

Tt | feam gott 7 foren <t ot U9 sk ot

Tearfer wwm et & -

(a) Unsecured creditor / 3THfRIT TR &

(b) Preferential creditor / Ilalf@l"cﬁﬁ ATRR &

(c¢) Fully secured creditor / ‘{Ufﬂi ET@RT ATER &

(d) Partly secured creditor/3T¥Td: XA TR &

UK SSC Assistant Accountant 29.11.2020

Ans.(a) U9 U e fow 5 wer % wfrafr @
TR A& BN 2| T SGWT T FHEAd 21 T8
T IUNHAT & HURT B AT F €T F W@ & I9
ST I GRI & MR T F0T I doll T 21
Y- AR F0T, HeT e R oo g7 I T H=OT
T 3GF BT Feafa I faar gan 7 foran S
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02.

Business, Book-Keeping, Recording and Reporting

T, Feh-hiTu, RS FR Rt

L Understanding Business
Accounts (ATAX Qrar sl HHAA)

1. indicates the initial amount the owner or
owners of the business contributed.

URfTeR T @t T et ¥ S SaE
& Tt a1 ArfereRt 3 TTeT e )
(a) Capital/gsit (b) Profit/ay
(c) Asset/duft (d) Reserve/dad
UPRVUNL Assistant Accountant 15.05.2022
Ans. (a) : ST (Capital) SRR U7 1 AT B € o
G % @ A1 At 4 A & 2
2. Which of the following is considerd as revenue
expenditure ?
H A Fordy T T T ST 87
(a) Cost of demolition of building
UG & R & A
(b) Cost of petrol or dlesel for cars
% fou Ugia a1 € S A
(c) Legal cost of buying property
Tufa Elied # S A
(d) Installatlon cost of fixed assets
A [t FEATOHT AT
UPRVUNL Assistant Accountant 15.05.2022
Ans. (b) : UF U5 =9 @ &l & 99 HE HEA
FUHIAH AT (A TF a8 T FH) | d4
HHAR R 3 A B ST I
faw fopar S

T W R o ﬁanﬁﬁﬁm‘rﬁﬁﬁw(m
ST 9 &1 U ISR & |
3. Which of the following is a personal account?
[ q SH-TT T e §
(a) Capital/ ISt
(b) Office equipment/mfc_fl'q F YR
(c) Depreciation/qcda™
(d) Machinery/mefi={
UPPCL Assistant Account 20.11.2016
Ans. (a) : 9ol W T ARKTT ©MAT 8 ARG @ 3
T T Il & |
(1) STepfcieh SAHT @A - TH, AW, Hed M|
(2) FOAW ARG WA - T BT T, ool Hlerst
qdr s H Gl
(3) uffafy =fema @@ - a8 S R e @
T Y qaad T, 37ed Wil S |

Assistant Accountant Planner
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4. Which of the following is not a nominal
account?

AY-U @A & 3ita frefafiea @ @ =

& IATar/ATAT?

(a) Plant and Machinery/<ie 3R Al

(b) Insurance/siH

(c) Sales/ fafepat

(d) Advertisement/ fagma=

UPPCL Assistant Account 20.11.2016

Ans. (a) : 3F-FT (Income and Expenditure) T
AHHE @Idl (Nominal Account) 21 98 @1 S 9 =
T @ B ¥ TR g § 3% AHEE @ wed 2
frar, faferat o fagmo gk e 81 € Safs wie qun
el arfass @ |

5. Which of the following are real accounts?
A. Drawings B. Cash
C. Capital D. Machinery

E. Depreciation
Choose the correct option

HA-T ArEfers @ §7
A. AT B. &g
C. Uit D. wf=t
E. Teag™
wd fosheT g

(a) Band D/B 3R D
(b) A,Band C/ A, B3R C
(©) Cand E/C 3RE
(d) B,Dand E/B, D 3iRE
UPPCL Assistant Account 20.11.2016
Ans. (a) : 9%dfd% Gl (Real Account)- ﬁ’@ T S
fpeft a5, THfT a1 SR ¥ Tefi g 8 aRdfas®
@l FHEA ¢ |
IY-Tbg, A, HieR, 49, 9, 9a, e, W T
AT @I & FhR % B §-
(1) 9 arEdfas @ (Tangible real account)
2) 3Tlff ar&dfass @i (Intangible real account)
6. What is one of the features of Cash Book?
YT ek et fergreTet § & TR o 37
(a) It is a both a book of original entry as well as
book of final entry/ag eI Hef® I Ty &
siftm wfafy % T # TF b 2|
(b) It is book of original entry
Tg e A H g 2
(c) It is book of final entry
7 siftm wfafy & 7w 2
(d) None of these/3T8 & &g off T&t
UPPCL Assistant Account 09.02.2018

YCT




Ans. (a) : ﬁﬂ?&" aE @t W—
() U%g o& § Hael dha PR W AF-a41 &
faferare e foam < Hehar 2|
(ii) ﬁ?@éﬁﬁmmmw-ﬂﬁ@ﬁm
ST 2
(iii) Uhe T IRFTE @@ (g1 ) & =& 21 S
Y- @R (e gfafie) & o FE s 2
(iv) Uhg a& &1 Faa FON 99 (Debit balance) BT & |
(v) TR | UHg §& (Cash Book), UHE @ (Cash
Account) &1 f&ehed 21
(vi) Uhg & |ft SR *F A@RAT O dAR H
St 21
7. What is definition of Permanent accounts?
Tt Tt et aReTeT = 82

(a) Income statement accounts that are used to
track accounting activity during an undefined
period
3T foeor @ e S saRefia stafy
F N A Ty # 3% HH &
3TN R S §

(b) Income statement account that are used to
track accounting activity during an accounting

period/3T fqaRuT @1 S UH o@r ARy &
N dAGET Ty B 3w e & ol
ST fohar ST 2

(c) Balance sheet accounts that track the
activities that last longer than an undefined

period/ nfdss s S U smRenfya smafyr g
mﬁgwmaﬁmﬁnﬁrﬁfﬁﬁaﬁ%
F Bl

(d) Balance sheet accounts that track the
activities that last longer than an accounting

period/enfdss g @d S S w@n @ty §
Al T d% T arel TfafafEt @t 3w
A 2
UPPCL Assistant Account 09.02.2018
Ans. (d) : 997, Fard R Aferss & GHAT T, BTeA(h
3 w9 @ &, 3N ST FHOT Y A @ I &
foru yresmd 9w 21
e fambew (d) s fugr @@ St ws or ey ¥
Rk T d T Aol TfARET B 2% H o |

8.  What is a debtor?/3aaR =T &7
(a) A debtor has a debt or legal obligation to pay
an amount to another person or entity/@

TR % g feeft o=y = ar deen @ ufy
P A B F T TH BT A1 FA A §

(b) A debtor is a term used in accounting to
describe an entity (can either be a person,
organization or a government body) that is

owed money/U%h 3TeR TH I @ oIgaH!
IYGITT T ShTS a1 9U S & T fhar S
2 (A A U =ARE, oA A TH WHA G
1 Hehel @) ST ahr 8

(c) A debtor is an entity (person or institution)
that extends credit by giving another entity
permission to borrow money intended to be

repaid in the future/ IER TS Her (3 @

TEem) 3 S 9fas § g 9 % 3RYT 9 e
3%%%?@@3%@3‘3%3@4%%@
En

(d) None of these/3T8H T g off &
UPPCL Assistant Account 09.02.2018
Ans. (a) : TER IT KUK (Debtor)-afs fredt =afem =
IR ¥ AT, HaT a1 Uehs SHR & T2 &1 df 98 AR
AR FEAM ¢ 59 % a8 Fo T I09 T B 3|
g e (a) “TH IR & U frelt oy =fe A
T B U H P FH F T TH ET A B
e 217 wEl 2

9. What is a Creditor?/3RUTaTdT =T 2
(a) A creditor may be a bank, supplier or person
that has provided credit to a company/Teh
THER T b, YR A1 FARh & whdl @
S forddt ot &1 Shfee wam fovar &t
(b) A Creditor is a person or entity that owes

money/T& Fo 98 =fe a1 G g Rrge
o 2

(c) A Creditor is a person or entity legally
required to provide a payment/Ts% Fofl TH
A a1 G & S B 9 F TH PEE
Ya % fo1q STEvh §
(d) None of these/3T8 & &g off T&t
UPPCL Assistant Account 09.02.2018
Ans. (a) : 59 =f@ 9 =3O 3 A9, FEW AT THS
IR A 8, 9@ AR FEe B |
I fohed (a) “Th OER USH db, TP A1 Afh 8
Teba 2 g foredt shaet a1 bfee wam fpar &1 T 21
10.

Is Cash Book a Jouranl or a Ledger?
YT ek THA & AT A=
(a) Neither its Journal nor Ledger
T Ig S & AR A A 2
(b) It’s Ledger/a8 WK 2
(c) It’s mixture of Journal as well as Ledger
g S & fagor & ar-Tr oeR off
(d) It’s a Journal/T8 Th SHeT &
UPPCL Assistant Account 09.02.2018
Ans. (¢) ﬁmaﬁaﬁﬁlﬁw
(1) THE 9 | Had s FagN ‘el &1 fafar
orar” feam < 21
(2) U5 98 & 2foe gy & Foe Madl Td T Jam
1 o AT ST 2
(3) %S T8 & URAWSH o@ & 98 8, S -
AT SEt (Ledger)‘eﬁTT:ﬁl??Q ot & 21
(4) Ushg & &1 g FON 99 (Debit Balance) el 2 |
(5) =GR H UHg & (Cash Book), UHE @M (Cash
Account) &1 f3ed 21

3fq: fbed (c) T8 SHA & 0T & Wg-gre ook o 21
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11.  Bill receivable account is
yre foret @ -
(a) an expense account/Tsh I GIdl
(b) an asset account/Tsh HHIf Gl
(c) arevenue expenditure account
Teh ATIId I @Idl
(d) a liability account/Tsh I QAT
UPPCL Assistant Account 29.01.2019
Ans. (b) : I {1 &1 @ Gufe @it @ i o et feran
T g SuE IR B R @ uRugear R W ow@ e R
THfeT 3% dufed @t # v § 9 9 fe @ AR § g
ST & F 39 gRgadr [ | pEe e 2

12.

A credit entry in a real account means:
Ueh dRdleeh WA | Teh shise Hiefy a1 oref 8
(a) a decrease of an expense /T& =TI H HHI
(b) an increase in the value of an asset

T qREUfT % g § gfs
(c) a decrease in the value of an asset

TF Hufd & qed §
(d) an increase in an income /U 37 i ﬁﬁs{

UPPCL Asst. Accountant 22.02.2022 (9.00 am)

Ans. (c) : T aTESH @ ¥ TH shise I # S 8
T 9T 999 GO % god § S & &9 § gsr 21
13.

Which of the following is an example of a
representative personal account?

frrafafad § | i Giai=i st @rd s

IETEAT 772

(a) Outstanding rent A/c/shTaT fRTET @Al

(b) Wages and salaries A/C/HFIH;E( 3R S @
(c) Factory building A/c/HREMT 9o @Idl

(d) Mehta and Sons A/c/F&dl T TH @Al
UPPCL Asst. Accountant 22.02.2022 (9.00 am)

Ans. (a) :

ARG @IT a8 @IT e & S fhdl s, e st

forelt sfefefer & waiferm &0 €1 28 3 YR % B &

(1) Spfess =AMRBTT @A (Natural Personal Account) :
7% 9% WA § S artas Afedl 9 wei 8 g
S T, YA, e a1

(2) FHm ==tk WA (Artificial personal Account) : T8
Fhm =fedl ¥ orafd o =afe R Tefs Afwa
F &Y F A1 oG 2 ¥ gl 2§ S w5,
FTCIST, HIE BT 3T |

(3) ufafafr =@ @M (Representative  personal

Account) : T8 98 @M € I f&ft =g =Rk @

Y #@ €1 99 eed dad, qEed oTE-d

e fehtran el

The is a substitute account prepared

in the Nominal Ledger for the accounts of
individual customers, but with total figures.

_ gfwIad UTeshl & @Tal & fag
TS WA ¥ AR et SRSt % ae
TR TR T Weh TATATIS ST

14.

(a) Neutral Ledger Account /G2¥d @l a8t

(b) Total Debtors Account /% TSR T

(c) Total Creditors Account /%cl [SRE{SECInI]

(d) General Ledger Account /STHI=I @Il sfal
UPPCL Asst. Accountant 24.02.2022 (2.30 pm)

Ans. (b) : $& IER WA FARKTT T@H 5 @Al & 07T
AT W S A FA SAhel % WY TR A T T

fqeheq @ 71

15. Return outward should be allocated to

et STaET (TRr ATt ) St ATefed A B
(a) Purchase A/c /sha o
(b) Sales A/c /faha @ |
(c) Assest A/c /Grafy @ §
(d) Capital A/c /45ft T
PUNJAB ASSISTANT ACCOUNTANT 2

Ans. (a) : ST&T SO I @ § SEfed fhar S 81 @
o # ... gfew anfi-

Purchase Return a/c Dr.

To Purchase a/c
16.  Which is a correct sequence?
WE T R AT E-
(a) Ledger - Journal-Trial Balance - P & L A/c -
Balance sheet/TTl agI-TSiHIHel-Aelqe- a4~
g - Refq foawo
(b) Subsidiary Books - Journal - Trial Balance - P
& L Alc - Balance sheet/Ser® T&%h -
YSHmET-Tege- arv-gi- fRafe foawor
(c) Journal - Subsidiary Books - Trial Balance - P
& L A/c - Balance sheet/TsHM=ET - TEEsH
(d) Journal - Ledger- Subsidiary Books - P & L
A/c - Trial Balance - @ WS-
PUNJAB ASSISTANT ACCOUNTANT 1
Ans. (¢) : TGH T (Accounting Cycle)
Journal (TSHT=T) (Subsidiary Books) (T RESED)
—Ledger (@M1 5i&l) — Trial Balance (7eT9E)
— Trading Account (TR @A) — P & L Alc
(eMH-g1fF @rdr) — Balance Sheet (Rafd faawo)

17.

Rules for debit and credit for real account is

aTEferek @ % Sfere i thfge & fram @-
(a) Debit the receiver and Credit the giver
T A AT B FOT AR I aTet HI T
(b) Debit the giver and Credit the receiver
et BT RO qGT WG HIA ATt BT
(c) Debit the expenses and loss and Credit the
Income and profit / T 1 &I I Foft 3R
3T TN A AT
(d) Debit what comes in and Credit what goes out
S 3T 3W HOlt qur S S Y e
UPPCL Lekha Lipik 27.09.2021 (Shift-I)

Assistant Accountant Planner

18

YCT



Ans. (d) : T dfgs @1 HE R AQREr

Geiftrd Tk 9T o€ @ 81 A U @ § S 9l &

3 & da T e ¢ AR I o S S &1 U ardtash

T BT IS &~ Feif=R e, Tl e, et |

@i # 2w 3t Hiee F g sfed fram e §

1. SAfHTd @il (Personal Account)—(a‘\@- TH, TIM),
U9 At @ ROf, 3T A H A (Debit the
receiver, credit the giver)

2. dr&dfas @l (Real Account) - (Ui To ) —
R H S off oM 39 woft, AR ¥ St 9 3W
g1 (Debit what comes in, Credit what goes out)

3. AWEE @l (Nominal Account) (ST @1/ 311/ =9)

—aoff ¥R % = qgr @ A F=@olt @ weft sER &

I qAT AT B (Debit all expenses and losses,

credit all income & gain)

Salary paid to staff is a .
' @it T I &t odq U
(a) personal account / SATRITT QT
(b) real account / ST G
(c) nominal account / FTHHTEA <hl @Idl
(d) capital account / Iiﬁﬂ Qrdr
UPPCL Lekha Lipik 27.09.2021 (Shift-1T)

Ans. (¢) : T THAH AT Th Ul Gl g e o

- B T T af F I G B o 1 gus

T S P WA B 1 AW AT T F w3 T g

F T 9 TN o1 T T H Hoe F forar T 2

19.

18.

Furniture purchased from Ramesh for personal
use, which of the two accounts will be affected :

T ¥ foreft Su=ir & fIT wefer e & ™
TE SIOEN & TUTerd e aTet & @i Bir—
(a) Both real accounts/&-i aT&ifaeh T
(b) Both personal accounts/& ST ST
(c) One personal account and one real account
Teh SATThTd QAT Us Teh ardiesh @Il
(d) One real account and one nominal account
e aTdfaeh @Il T Teh ATHAR T @Il
RPSC Junior Accontant 2011
Ans. (2) : WY T 710 300 & U HR 57 W 39
FER ¥ T 8 aTel &R @i ardiEs S 8 g
TSR @ (Real Account) : T8 @ S fhet 3w,
guafy o el § wwfd &, aafs @ sead ¢
-2, W, TR, @ @k, g e R
E\a‘_

A Tt T/ W areft/
Tt @ Sfae TE] T hiSe
(Debit what comes in)  (Credit what goes out)
SHa Sfafe—wg %
Furniture A/c Dr. (Real Account)
To cash A/c (Real Account)
39N - Furniture A/c ~ Dr. (Real Account)

To Ramesh A/c  (Personal Account)

20. The account which is credited by the cost of

goods taken by the proprietor is :
HEET & @t gRT fIu T Aarer st @na o

shfge Teram StTaT &—

(a) Drawings account/3g<{0T @Idl

(b) Capital account/‘i?ﬁ Qrdr

(c) Sales account/fasha @

(d) Purchases account/shd @Il

RPSC Junior Accontant 2011

Ans. (d) : 3T T[T H S T HT FIAET F @
g fomn A WA SeRun E €1 gHferT STIeRv @
e g S s @ ShiEe g
21.

Double-column cash book records :

T5-wmfta v e | sifieifad g |

(a) All transactions / 9t g

(b) Cash and bank transactions

g} -3

(c) Only cash transactions / FIA THE -3

(d) Only credit transactions / Fae U AF-37
UK SSC Assistant Accountant 19.05.2019

Ans. (b) U &% @ BN &1 &6l 8, WA Jhe

e, i Jee s 3 B-wmfe Jwe e fi-

wWeg Ihg TWS § 968 9 o Yol oH-ad aH

e o e < |

22.

/ e g A%

Fixed assets purchased on credit are shown in :

SUR A ki T Tt gwta @ formar smar

T

(a) Purchase book / 57 @& |

(b) Cash book / Tg & §

(c) Journal proper / &4 e H

(d) None of the above / 374 H ¥ FIE T

UK SSC Assistant Accountant 19.05.2019

Ans. (¢) 3R R Rl Fufal & @le 09 ®9 ¥ g7 SHd
i aot & I 21 39 T W % Suf SUR W mid T g,
SHA RS ol @ e eyl TE 81 e sR |
B dTel FHET Hial 1 Yoy el o b S 8 |

23.

A transaction recorded in the credit side of
cash book is transferred to the ledger :

RS T & shiSe (ST 9 | Raris feram Tam
-39 @A S W wEaRa feRer S
g
(a) On debit side of the account
@ # Sfae (Am) ve #
(b) On credit side of the account
T & shiee () ue §
(¢) Is not posted anywhere/&g! =&l far@r STr 2
(d) None of the above / 374 H ¥ FIE &
UK SSC Assistant Accountant 19.05.2019
Ans. (a) 58 T & HES I § RS b1 T -3
T 7@ @] F e v § wEmRd B I 21 s
T Y T T R ghem fada ger & far S 2
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Credit balance of nominal accounts indicate :
ATHUTS WA BT T AT S0 e §
(a) Trade expenses / SR F =g
(b) Losses of trade / TR & it
(c) Income and receipts of trade
SR i 37 3R it

(d) Assets of trade / IR & Tt

UK SSC Assistant Accountant 19.05.2019
Ans. (¢) H-9F @A H ST Y AWK F A 3R
it &1 gwier &1 AW g @i 98 @ @ o Ryt
A9 Y TG E SHH HIE Hifees Refe T Sl - e,
FUYH 3| 919 77 @ ¥ Dr v § =g 9 g qwid
2 il Cr ver # @9 @ it gl €

25.

24,

According to net assets is :
Y1 Wi T 39T §
(a) Total assets — Total liabilities

Fd FEREl - $A qaE
(b) Fixed assets + Current assets

Tt et + 9 Sef
(c) Total assets — Current liabilities

Fd FHfEr — =1 Qe
(d) Total assets — outside liabilities

Fl gHIf — ael e

UK SSC Assistant Accountant 19.05.2019
Ans. (d) I HUN FI STHAR T T & &9 § Faq 5
S &1 A8 R T T B B A @ S e H
T B T G FoT GrR-aTE Qe
26. Rent account is :
Tertram @ ®
(a) Real Account / aTifash @Al
(b) Personal Account / SfBTd @rar
(c) Nominal Account / FTHHE @Il
(d) None of the above / EW?i’rﬁ T &g T2
UK SSC Assistant Accountant 17.01.2016

(d) All of these/ & Tt
UK SSC Assistant Accountant 17.01.2016
Ans. (d) : — USTT @, fosma @, o e @ et
ez Oy femm 2
29.

If Clerk salary is more than the preferential
limit, then the excess amount is included in :
q

forfires o S 3 TR A it

arfires g A sifafies widr

T I §

(a) Unsecured Creditor/ 3@% ATER

(b) Preferential Creditor/ iaﬁﬁam SGES

(c) Fully Secured Creditor/ qufd: T eHaR

(d) Partly Secured Creditor/ 37¥Td: T wHaR

UK SSC Assistant Accountant 17.01.2016

Ans. (a) : fafts & aq7 & oy afe gEifter 9 @
o 31 1 S T SRR S A S T 2
30.

..................

'Debit the receiver and credit the giver-this
rule is applicable to :

U 9T @ht UM TE e 9Tt sl o g e
(a) Personal account/ SAfThITd @Il
(b) Nominal account/ AHHE Qrdl
(¢) Real account/ aT&difash @rem
(d) Both (b) and (c)/ (b) 3R (c) qT
UK SSC Assistant Accountant 17.01.2016
Ans. (a) : SRETT @A 9 @A & € S B =AfE, B
a1 G o Y @it STl §
FARFTT T ¥ Heifed el i A Hd T -
“ I a1t 1 e A S 8

Memorandum joint venture account is a :

31.

Ans. (¢) : THAH & T RS =9 g MEddl q9r Ard-
2 ¥ eiftra 21 €, of: fpuan @ T @ g1

(a) Personal account / SfhTd @l

(b) Real account / ST @rer

27. Account which represents owner of the .
business is : (c) Nominal account / ATHHT @Al
AT S AT o Wl T e st (d) Joint account / ¥ a1
T UK SSC Assistant Accountant 29.11.2020

(a) Drawing A/c / 3T&UT @Il
(b) Creditors A/c / FFER ETT
(¢) Furniture A/c / %=l @l
(d) Sales A/c / fasha @rar

UK SSC Assistant Accountant 17.01.2016

Ans.(c) §Ih ITHH TRF TET Th TE F G5 TN &
s Tl vl % wYe SumA @l @ 2fae v # ek
e g H e 3k §1d L fo Sar 81 S e &
BT H B 21 hiee e I B W oy ad Sfe U
ek B9 W g B § 1 I8 U AHEH WA gl 2

Ans. (a) : — Uhdd AR N TEiEd § =R & @
g ol @ & fofu =R 9 faeen T me ar U
AT FHEEATC & |

32.  Financial Accounting deals with

far<hrar Srater, deifta £

(a) Recording of transactions.

-39 &1 ARG

28.  Which of these accounts show credit balance :
39 @l | i 9T (Phiee ) 9y fe@mar € -
(a) Capital Account/ ﬁ Qrdr
(b) Sales Account/ fassa @ren
(c) Rent Received Account / I = @ren

(b) Recording, classifying and summarizing the
transactions.

-3 1 3TfeREd, FifeRtoT U Wi
(c) Preparation of financial statements only

Faa foxfra fawt &t Tard
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(d) Book keeping and preparation of financial
statements.

fofrar ferercott &1 dorlt v wéramn

MP PEB Asstt. Audior, AO 08 Jan. 2017 9.00 am
Ans. (d) : FT TRai T FagE ¥ Gafd o oF-a
& T, faveror it RUifen § weftE s & & 2l
THH g dAR & T Rule walste ST % fog g gl
fordi ogieA 1 4 359 a9 & AW @ Refd & ar
i W 3 Foger gfveior W B 1 R o # st
YR T i e &1 dar ST e 2|
33. When the owner of the business withdraws

cash/goods from business for his personal use,
it is termed as—

W& AR T AIfeTeh, U TS J&mT & fe
IR | /T okl TIehTerar §, 30 had &:
(a) Drawings/311g01
(b) Capital/gsit
(c) Cash outflow/dHhs afgate
(d) Depreciation/HqcIdgd
MP PEB 08 Jan. 2017 2.00 pm
Ans. (a) : 59 SR H A 99 et y@m &% fow
IR § /71 Pl (Herd @ @ 39 ST el S 2|
T SUR 1 @ g WA % e e @ g9
T eraE s | fRar S @ ek sifm @ # Ot §
w1 % fa@ran S R
34.  Which one of the following is a real account?
e @ §7
(a) Salary account/da @Al
(b) Mr. Ram's account/ sl TH &1 @rdT
(c) Building account/¥ g @rdl
(d) Interest expense account/sdTs] = @Idl
MP PEB 11 Jan. 2017 9.00 am

Ans. (¢) :
@ qE: 3 TR % Bid 2|
1. SARHTT @AT - T, T, HigT H @i |
2. T @ - G S | S g, e,
TR, TR @
3. AMEE @A - T 3 9 G 9 g @ |
S - Fq9 @

Wages owing is :

3s.

(a) Personal Account / SAfThTd @Il
(b) Real Account / ar&ifas @l
(c) Nominal Account / ATH-HA h QIdl
(d) All of the above / 3T |eff
UK SSC Assistant Accountant 13.05.2018

2. aTdfersh @Al
i. g STty @ 99 - weiad, wed @
e |
ii. 3T STEAfaS Wi SIY- T @ S|
3. 9WHE AT — 3T 9 | Heifdd @l
3A: 3T A A ITeW Al U Wiy =fea @
2, St =afeTd @ &1 & A 8
36.

Drawing Account is :
0T W §
(a) Personal Account / SfhTd @Al
(b) Real Account / aT&ifa® @Il
(c) Nominal Account / FTHHE @Il
(d) None of the above / Cﬂﬁ’rﬁ ¥ g T

UK SSC Assistant Accountant 13.05.2018
Ans. (a) : — 3R T Th AR @il 81 3T
WA Teh oRal TGI8 & S b ot/ =a|rd @ febret T
g B b I F o S ar @ A Wi & doh
T % ol @ § 9 Wi F ®9 F @0 S whar @
St fh srawE & fau afaa @ qun Afee @ SR
T & 2|
37.

Identify the nominal account from the below
given list/=rer &t weft qeft ¥ 9 AW-A @
& UETT i
(a) Machinery account/Hef={ IgEel]
(b) Cash account/dshs gtell
(c) Rent account/ T gtell
(d) Debtors account/3ER TGl
MP PEB 09 Jan. 2017 (9.00 am)

Ans. (c) : FFUT @1 A9 & @ 2 | AW qE @ a8
T @ forenr wifaes etfiae & iar, TH9E @i & 3=

AR ¢ Aol W, FHYH @, S 9w @
e @l & forg frem @1 wedt @=l e s & e
H geft e S o I e H
38. The transactions where no cash is involved are
known as.........
TG AR, TET NG TR I TE T
HEATAT B

(a) Full cash transactions/q0 F&& T
(b) Non-cash transactions/T--Th& w-a
(c) Cheque transactions/ 9% e
(d) All of the above/3TE Tt
MP PEB 09 Jan. 2017 (9.00 am)
Ans. (b) : -6 O 37 a8 O o7 BT § el g bl

Ans. (a) : T H EFE: 3 G F Bl e e 21 || [enfrer 6 e @ 7 9R SR & Aee @ &9 S o o
1. AR @ 7 T SR for-aior ¥ grafd oH-3 2
i, THfH ARG T SY - TW, AW, Wed||39.  Effects of Dishonour of B/R is given by/B/R &
a7 1 @ FTEAERTEAT & WS Sl T e §, 36
ii. 3B =AfET @A S - ABC Ltd. Bank  etc (a) only in B/R A/c/fad B/R @M &
iii. Sfafafer =fETa @ S8 - gded 9 o1ed (b) in Debtor A/c and B/R A/c
-7 TER 3R B/R @t §
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(c) only in Debtor Alc/fah TER @ |
(d) only in B/P A/c/fa% B/P @
HPSSC Accountant 05.08.2021

Ans. (b) : 5 37ehdl a1 AR faet &t gRyeaar fafy w
TAH & § 9o 9@ o 8, d fad F sEeRd #a@
S 7, 39 Refd #§ o & aTRM a8 @ S g
frelt fo 1 eI A A -y A PEE T FH 9
1 el 2| THY SR 3R foel 1 @i yeifed 2 2 |

40. Which of the following is not a sub-field of
accounting? i A1 faerea <t
3u-g 7 §7

(a) Management accounting/Js& GfGICT]

(b) Cost accounting/@NTd TEihT

(¢) Financial accounting/famit SECIEE]

(d) Book-keeping/J&qTet

HSSC Divisonal Accountant 2016

Ans. (d) : TGRS P T R A TER H IuaE F
AGIHA, B AN Yoo afid d@ieh e 2|
TG T i e S R & 3R aie
wfsham &1 f&ew 8, 7 f AWl F1 T 39-87 |
41.

Which one is not a type of account in
accountmg"

¥ for § ¥ S9-91 @ 61 Wi T8
22

(a) Real/arfash (b) Personal/aafeTd
(¢) Substantial/3F (d) Nominal/ATeam
HSSC Divisional Accountant 2019
Ans. (¢) : T % JHH— @Id 4 THR & &id 2|
(i) =RFT @Id (Personal Account)
(ii) ar&dfas @ (Real Account)
(iii) SM-AE @19 (Nominal Account)
42.

Opening balance of cash book is shown

AT T&Ih T URETE I forar smar &—

(a) On the debit side of receipts and payment
account/Tfd- A @I & efde 9ey #

(b) On the debit side of income and expenditure
account/3-=79 @l & Sfae wer |

(c) On the credit side of income and expenditure
account/3Ta-=9 WAl & ohiee TeT |

43. Which one is Tangible Real account in the

following?

forer o @ g st @rEr wiE-an €2
(a) Motor Vehicle Account/deX RIERE |G
(b) Goodwill Account/®ATfd T

(c) Commission Received in Advance Account/
qred Qrdr

(d) Accrued interest Account/31f3id =S @
CG AAO 2015
Ans. (a) : g0 IR @ F G 8 R i iaed
g 31 g vl #, U gufy Rt 2@, megy fea
I I S Tebal 81 3A0T & foAu A @, @ieX
T @, W @ S| I e & fawedi 7 (a)
oo T

44. Which of the following accounts is Nominal
Account?

T | -1 ATHATS hT @ &2
(a) Interest Account/sdTst ggcll
(b) Outstanding Interest Account/37ax sITs el
(¢) Accrued Interest Account/3ISid =TT ol
(d) Prepaid interest Accountf‘lar?{ﬂ 1T T
CG AAO 2015
Ans. (a) : SIS @@ T GH H oGl 21 AEHE Gl
g, =9, E, o ¥ gEud g 81 SERu- %Y
@ 1 o 39 yaR @ @t TER & =g 9 @i a1 S
@ ¥ fean § o @oft SR % T F AT F HEE &
& fe@man S 2
45. Fixed assets are held for the purpose of/3T=lcT
Hufvat g0 ¥ fore weie= o forg Wt St 82
(a) resale/fRR T I= & fag
(b) conversion of cash/7ehdl H TR0 & foT
(c) use in%business operation/MUR  Fareq  H

(d) obtaining loan/F0T I i & forw

JMRC Junior Accountant 20 May 2017

Ans. (c) : 3/ T T U gwi € R At ar danei

% IUET YEF H & evd ¥ IUANT fRAT S @ 3 =9

T F A TS § e & o 98 @ s 2

3T YUl SR HEeH ST YAeE % fow W S
R e GufE # 9, Y, G et e 8

Set-up your Business Account

(d) On the credit side of receipts and payments (3:|'qﬁ‘ AT @ T ‘érﬁ‘)
account/TId-4Ta @l & shfee v&r &
CG AAO 2015 (46,  The book in which all accounts are maintained
Ans.(a):@qummaﬁ@mé'mﬁ is known as
Tl e W 3N T PIAH b O 2 H GARA U o ek et weft W W@ W ¢ whgerrdt §
I 8| T U HGEE & [T Tehel § Gafd w1 (a) cash book/ UHE &t
Tofish SR g1 Uhe T&sh § THHN B THI-THI W (b) journal/ TsHT=N
THEA fFar S @ SR g @i @ § @ fear (¢) ledger/ T F&
ST €1 1% & <l T A W‘W @ & (d) purchase book/ 53 &I
<foe o # foran S 31 UPPCL Assistant Account 20.11.2016
Assistant Accountant Planner 22 YCT



Ans. (c) : @AW (Ledger) ¥ d+ff
aﬁ%s@%mwmaﬁ@ﬁw
39 T ¥ grEfyg gt d9-29 & 399
3G% 91€ THH I Fhren S 8, @ o
et @Al H a2

47. Which of the following is the first book to
record a transaction?

fertht -3 o1 Rerle o areft wom ot §

(a) Trial balance/ deTde

(b) Journal/ ST

(c) Balance sheet/ anfdes fargn

(d) None of these/ 30 ¥ HIg Tel

UPPCL Assistant Account 20.11.2016

Ans. (b) : THA SE AT TSAHAT AR A A1
e e & R we) S o &) S fER
P A 21 e gEE iy % erER wfafEr & e @
Ty 38 2 o off sed &1 ISl (Journal) a8
T ¢ fad =ewe & 9as aF-aA & Qe &6 (Dr.
and Cr.) 9 YR oi@m &1 ffdaR ok femeer e
ST ® o e o # weed e el B g §
RT3 9 foran S € 39 I Ped £ |

48.

Which of the following is not recorded using
Adjust Journal Entries?/freferfad T &=
W SHEA gatEEt sl GHEeH e o o
U T feRam e €2
(a) Accrued expenses and accrued revenues

=g 3R il Torea
(b) Postpaid expenses/TEUS =

(¢) Non-cash expenses/TR T =1
(d) Prepaid expenses or unearned revenues
aed T AT SN T
UPPCL Assistant Account 09.02.2018

49.  Which of the followmg is not true?

e § | @ wd e R
(a) Accounting information is useful only to the
management./@lhd I Sdcd FdY B

fere swenft 8 21
(b) Under cash basis of accounting, no
adjustments are made for outstanding

expenses and accrued income/Th<

YR H 37ed @9 q9r IS 3Tl 1 g

AT & g
(c) Accountin is the language of
business. FET hY AT 3 |

(d) Depreciation accumulated over few years
following straight line method is more than
that calculated under diminishing balance

method./9%T @1 Igfd @ [ o gfad
g,%azﬁwq@ﬁﬁwﬁasﬁqﬁw%wm
|

PUNJAB ASSISTANT ACCOUNTANT 1
Ans. (a) : JQ@HT ¥ Tafd THHRAT Haad Jeieih &
forw Iuartt Bt & a7 FUA o 81 SR B SR
IR (Fave), o er, , AN, THR T4
3T SUNIHNTO S o foTT SYANT 8l 81 &Y & fou
T8 a9 Heaqui @ W 3 Hoft @1 off 7 S W
& Wl 21

50. When business is started with Loan, Loan
account w1ll be

W SRUT % WY TR R B A SR @
(a) Transferred / SR
(b) Credited / &1
(¢) Neither debited nor credited
e T & wof
(d) Debited / Foit
UPPCL Lekha Lipik 27.09.2021 (Shift-I)

Ans. (b) : T&7 ARSI (Adjustment) ST IS §
ERESInE

JAf<qq @ (Closing Stock)

3 I (Outstanding Expense)

13\3‘3?[ T (Prepaid expense)

SuTfta (Accrued Income)

3TN 3T (Unaccrued Income)

it %1 e B9 (Depreciation)

tITrﬁ T N (Interest on Capital)

30T T IS (Interest on drawing)

3TIMET F207 (Bad debts)

dfew momd gr@EE (Provision for doubtful

debts)

TR 5 faw B DI AEGYM  (Provision for

discount on debtor's)

(12) SEEURe i) e % o e (Provision for
discount on Creditor)

aa: fobed (b) “UreUs =’ UoWmEr NEfEE &

ureH FW & foT 3gan T A S 2

(1
2)
3)
4)
)
(6)
(7
)
©)
(10)

(11)

Ans. (b) : 51 P ARE T b AR IE FT ¢ Al
I8 AR % I Tk FER ¥ gST ? qur =Afe & o
e €, SHFAY S BT % W SAUR Y& B Al R0l
T G g

51.

Long term assets having no physical existence
but, possessing a value are called

el srafyr W Ut Wt fEer i

;T@W T T W gew T A § o wEerdt

(a) Intangible assets/3T9cael gRgwfd

(b) Fixed assets/€ardl aRewafd

(¢) Current assets/aa TG

(d) Investments/f1a3T

HPSSC Accountant 01.08.2021

Ans. (a) : ol 3R T TRy e ifvs s
T F F I I B0 ¢ I8 ST IRGH HEel
2| GgEE, S uedH IR sifgs guw, S99,
gty § 9ftr, G SuHT SN W e §
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52. The Debts which are to be repaid within a
short period (a year or less) are referred to as
TH R0 = e @y § (T a9 a1 &)
FRMT § 9% Seariad T wme §
(a) Current liabilities/ada S
(b) Fixed liabilities/mt aifia
(c) Contingent liabilities/31-f2d e
(d) All of these/a@ |t
HPSSC Accountant 01.08.2021
Ans. (a) : 9499 TG TS AGEIAS THE & (a0

TR ¢ S T a8 & R 3T 2| TH Fd ad e 7
v fordl U 4 T o R @ e v § aed
T a7 e Gl % afgeie @ 3ufie Gar @ 2|

55.

Which of the following errors will not affect the
trial balance agreement?
frfafad & 9 &9 @ Jfe aoue ausia &
gTer A& sht?
(a) Posting an amount on the wrong side
AT 9 H AT g HE
(b) Wrong balancing of an account
I & e Gqed
(c) Wrong casting of the subsidiary books
TRTTH &l Sl Terd HIfT
(d) Omitting an entry altogether from the
subsidiary book /eI T&% ¥ T ¥fafy &l
7 TE ¥ BrE|
UPPCL Asst. Accountant 24.02.2022 (9.00 am)

Deciding a Book- Keeping Method

(Sr&r@TaT ugfa a= &)

53.  Out of the following which one is not the

method of preparing trial balance?/ff ¥ &
I | Ueh deTue dIR i skt fafer T €2

Ans. (d) : TE9E TAEE & 99 § AR fhar swen g 3R
S Sl § @aEdl daR R S 21 SHA S 98
&k @SR Bl 81 3% B -2 o dlish ¥ St
ﬁaﬁﬁmwéaﬁimﬁqﬁwﬁmwéﬁ
T9e 1 e T8 8| AfehA, TR SHo Sfafd e 8
T @ i qﬁwﬁﬁmw%eﬁmw%
W 2 efae o #Hee ywE & 21 TEAU
e T § & IaE & g @@ ¥ Sied daque |
IS J9T T S|

(a) Total method/ﬁ'ﬂ fafyr
(b) Total sum balance method/3 a1 I TR
(c) Balance method/31 {3y
(d) Trial method/deqe fafer
UPPCL Assistant Account 09.02.2018
Ans. (d) : 79 T i ffR@i-
(1) @ faf¥r (Total Method)
2) 3y fafy (Balance Method)
(3) @nT Wd 9 fafr (Total and Balance Method)
a7 fasew (d) dor9e fafy o8 dode dOR w A fafy

56.

The entire system of double entry book-keeping
is based on the equation:

e AWT YUl YEAUTEH @t Ti gumedt
HHtRTUT TR e ¥:
(a) Gross profit = Net sales — Cost of goods sold
Thd AN = VS fosd — 99 T 1 # an
(b) Assets = liabilities + owners' equity.
Ay = e + gsi
(c) Net profit = Gross profit — Cost of sales
S A9 = Hohel A — fasha e

(d) Working capital Current assets—Current

T B liabilities ol = =1 W= e
54. In which ledger double entry system is UPPCL Asst. Accountant 22.02.2022 (9.00 am)

completed?/fHT @ W EW A@T YU T | (Ans. (b) : 3G Tl JUTC Sl SR TRGidh FHIHT

BT R (Accounting Equation) 2

Accounting Equation =

(a) General ledger/SM=I GrdTeR! e =

(b) Personal ledger/ ] ¢ 57.  Who is known as father of Book-Keeping :

(¢) Creditor’s ledger/d &Rl o TRl TEauTer T T feRd e ST

(d) Debtor’s ledger/ el & WA (a) Institute of Chartered Accountants of India

UPPCL Assistant Account 09.02.2018 g 3t AdE TR W e
Ans. (a) : TOF A & U WaEd od IuAn (b) American Institute of certiﬁgd Public
Accountants / A%

TWF ¢, HEifh AR ¥ gEte qoff qeegt geen
T & F & e B 7

T a8 F BT AHmEET # ST A & S 2
SR UE AR FfRAT ¥ & S @ v 2RU o

N

ufseTsh THRES=H
(c) Luca Pacioli / ST ufysficit

(d) R.N. Anthony / 3TR.TH. T
UK SSC Assistant Accountant 17.01.2016

ToTTelt T & T 7
3T fahed (a) UHFE TR FE AU G IUISA T a
ol

Ans. (¢) : THIUEH N SHEH TN IISTA bl gl STl
21 B2 T2l 1494 § UF oG WebIE fRar en forgd

qEIIT i e 4|
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58. The separate record maintained for each item

that appears on the financial statement is the :

T& Ug & U @ T gues afwerm Wi

forefrar foramor & yefdia € &, o8 wemar € -

(a) Ledger/@rar-sigl

(b) Account/@rdr

(c) Chart of accounts/@Td & =S

(d) None of the above/37dt H & ®1g el

UK SSC Assistant Accountant 29.11.2020

Ans.(a) ‘@A F@ RS FEEE @ =[O & qEH
(T=7) & (Principal Book) ¥ o =R & g4 aret
TaE oH-a &1 Gt affhd (Classified) oar fpam
ST 81 T8 Sk HE & forq ferdtar feaor sefdfe s 21
59.

The process of recording, classifying and
summarizing the transactions is called

AT o MG, TiffeRtur we Hfaredtervur

Y UEHT AT SRIT kel T &2

(a) Book keeping/J&drei

(b) Financial Accountingffél—rﬂ'q ISEEIET]

(c) Financial statements/faiiar faawor

(d) Preparation of income statement

o fraor &t dard
MP PEB Asstt. Audior, AO 21 Jan. 2017

Ans. (a) : 9937 & AforgT aiffeor Td dferwdiHoT
F Atk ® @ WA FE I 1 S IS
FagE W e W™ g oF-aT @ RaE s @
Wpar 21 JEAIeH e aeH § Wew § R 99 A
B I e S
F F e eR & qEiurer i § S1a & 2
60.

Maintenance of personal accounts and cash

(a) Pure single entry system
IS U Hfaf® wgfd
(b) Simple single entry system
WA THA T TE5f
(c) Quasi single entry system
CBle)
(d) None of the above/3TRIT § T HIZ T2l
MP PEB 11 Jan. 2017 9.00 am
Ans. (b) : TG F THA TAE TSH F G oHT °
FIA T & WA TN B 81 HAd U & WH b g #
T 4 e o g1 3 W HRPH, T@E, AR
a, it T F 3 TRl H1 ST fFAr S 2
61.

A trial balance is a :
qcTue §
(a) Real Account/ arifere @rdl
(b) Personal Account / SAfETd @IT
(c) Nominal Account / FH-HA @Il
(d) List of balances of all accounts

wt @ % o & g

UK SSC Assistant Accountant 13.05.2018

Ans. (d) : {58 =@E™ 570w Fived 99 § W@ 9N
A W@l @ M e @ 9" & & fau
fafyaa oo & ool @l F 9t 1 a0 qerue wEan
21 T8 JWiH FRAT 1 Heequl faeRer @ S fE wed
Tt # sifaw Rafe i gwiar @ qon sifw el & a9
¥ werEe g1 21 31 fahed (d) @ 2

62. Trial Balance is a ............. .
TEA T (AAYL). .o B
(a) Statement/fa@oT
(b) Account/ @l
(c) Summary/9RIeT
(d) Ledger/g! @rar
MP PEB 10 Jan. 2017 (9.00 am)
Ans.(a):ﬁ?fqz@ﬁﬁ%ﬁ%ﬁiﬂﬂﬁmﬂ?ﬁw%ﬁaﬁ
TR T A T T 2 e 32v qee! i
g Ya S BT 2
Iy qefae & I geit 1 AN e S @ @ 98 AW
feran Smar @ foF e 9 2
63. Which of the following describes a record of

the transactions?/fr=1 & | =RIT ﬁ'—Tﬁ? & Rt
Y ST T &2
(a) General Ledger/SH=I SRIGTdl
(b) Balance Sheet/3mfde fagt
(c) Journal/ASHTHAT
(d) Income Statement/3T faawuT
HPSSC Junior Accountant 2018
Ans. (¢) : TH-37 99 Ugdd Uomen § o= U S 7
3R R 3% @aed # U fFa S 21 39 9N
ST Teelt a1 o WAy @ e 8 S @i a6
98 wfafy & W g1 IS UF HAHHs HH §
-3 RHIE F 21 AF-37 H1 RbrE e F fpan
ST (Journalizing) gl SITdl 21 3 o1 & Rard
#t = off & SR 2
64. In which order does the journal list
transactions/Aa @l WHer W foRE wU A
fore feram s @
(a) Chronological/WH%&l’cﬁ
(b) Increasingﬁﬂ?sﬁ”
(c) Decreasing/ﬂ?ﬁ
(d) Alphabetical/a0TAITHR
HPSSC Junior Accountant 2018
HPSSC Accountant 20.10.2019

Ans. (a) : U6 SHd 9&¥ SHa § U @9 dqed
I R 21 SHa 9fafy © =R oF-39 % qoff vt
&I fe@rd @ SHa # gt eFel w1 e e 8
Tehdl 81 99 TS & iR 9 § forar S 2 |
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Recording Every Financial

Transaction (& fa<fitsr a=-37 &t

ResifE)

65. Which of the following is an element of the

balance sheet?

frafafaa § & wi=-61 3T fogr @ ueh

9T 87

(a) Expenses / T (b) Gains/ T4

(c) Liabilities/ A (d) Losses / g1f+af

UPPCL Assistant Account 20.11.2016

Ans. (c) : 37U T (Balance Sheet) arfash dor
KT Wl HI THRT HIAT & Taih T, AT, FT q
Td 99 99 T ¥ gEfd 81 o faed # dad
TR & qon W few @ safs o Wt e e
T 1 e g
66.  The features of double entry system are

i. It has two parties, receiver and giver

ii. Total amount of debit will be equal to total

amount of credit
iii. Receiver is debit and giver is credit
Which option is correct?

qredt wfafe gomrelt st fergroard &
i 3OE @ ue A §; wiltaskat oK 3 aren
ii. 2fEE w FHA WA hige W Fo AN ®
e &
iii. Wiftdehat Sfere & o I arer shfge &
TAH § Wl fasheu
(a) iand ii/ i 3 (b) ii and iii/ i 3 iii
(c) iandiii/i3Riii  (d) i ii and iii/ i, i 3N iii
UPPCL Assistant Account 20.11.2016
Ans. (d) : 380 JFE SO F OIS 6-
() T9H & T g & S aur hfee
(i) 398 & &1 g & wiftdehal (Sfse) dur ]| amer
()
(iii) 399 2foe T HfEe wer I 1 AT e FHaT |
(iv)s@ﬁ?’s‘éﬁaﬁ@rﬁaﬁ@é‘fmmwﬁﬁ
EXGIN

Salaries paid to staff will be debited to which of
the following accounts?

=i @ fear I aren aa= fFefeafad 8 9

form @ma o Sfere fepam smem?

(a) Salary account/ T @

(b) Cash account/ Uhg @l

(c) Staff account/ &% @Il

(d) Expense account/ =FF @Il

UPPCL Assistant Account 20.11.2016

Ans. (a) : HHEN I @ 790 999, 999 @0 F Dr. fHar
Bl Entry- Salary A/c  Dr.

To Cash/Bank
(Being Salary Paid to Employee)

67.

Wages of Rs. 5000 paid for erection of new
machinery are

=% weftadh =B @t W & faw & W T 5000
EaR: S
(a) debited to wages account

woell @ 4 efie & i R
(b) debited to machinery account

T @ @ Sfae # o 7
(c) debited to repairs and renewals account

T SR TR @ § S @ S 8
(d) credited to wages account

woigll @ # Hfee S 2

UPPCL Assistant Account 20.11.2016

Ans. (b) : 3% frdt weafy 1 %9 Ben Sn € @ S d
78 THIf e BT YE T B 2 79 a6 39 T 5 o
fepdr T ot @l A Wi @ A § Site e S g,
TG FAERN & STEN, 39 T # AL H T T
fohar T == (Expenses) T3 1 @ 1 WHT ST
ol 7Y & @ # g far s ew fow T
= & Y @i # Dr. foRar S
69.

Credit notes received for goods returned to a
supplier will be entered firstly in the

HEATRRX T OTeT st aToHt & @ uTe shige
e =t ylafe uga frafafad & st S €
(a) general journal
B REIGICH
(b) returns inwards journal
CIRE IR ECARCIRIE ]
(c) returns outwards journal
CIRIASIECARCIGISE]
(d) petty cash journal
G THg TAEa
UPPCL Assistant Account 20.11.2016
Ans. (¢) : TR HI A F aqdl & forw s fse Ae
# w9y gy auE S TeE § A S 21 9
e At aE oft 1 S 81 S shar gR fenedt
FRUTEE YR T b T Wi i qoia: A1 Sfema: fashar
P A9H R A T E 3T FT A9 THh A A
At Twe ded &1 WF R T W g %
frrferfiae T & T &
(1) W T 3T 76T § 7 a1 31 S g
(2) TG 1 A SFIET AR T 0T F TR W 7
BT
(3) oSt | 3 qoF & S
(4) A1 1 3 gaeT (fhm) F et § afard fafy
¥ I g
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70. If a customer sent the goods back to the

company, in which of the following accounts
should they be debited?
e Wk Al U=l s AT arod O T ¥

as o fr=fafiaa o @ foea @ @ Sfae fwan

STam?

(a) Sales return account/ fsht aTqEr QAT

(b) Sales account/ farsht @

(c) Debtor account/ e @

(d) Inventory account/ tIWI'FEﬁ Qrdr

UPPCL Assistant Account 20.11.2016

Ans. (a) : 9 HIE TEH SO B A aGH G @ ol
FO 3G a9 # fakd Aot wrar & 2fee Sl @ qon

e & W H e BT 3 |

71. A debit will cause the balance in a liability
account to
efee | qaar @ & 9w

(a) decrease/ ER

(b) Increase / T

(c) write off/ T3S-31T% & S

(d) accumulate/ G gmm

UPPCL Assistant Account 20.11.2016

Ans. (a) : ST ¥ a1 @A H T LA HAfF A
&1 I A hieT BT 21 A Wid 1 & 9§ s
ST Gebal 81 91 i SR dehreli <) < @
&1 99 & e g & faren st 2
72.  What is the limitation of Trial Balance?

THeruT Sger et Hrar o §7

(a) All of these/T4l fashea

(b) Trial balance gives no proof that certain
transactions have not been recorded at

all./olierT Wqem FE wen T AW ¢ R P
A T W gt A R T 7

(c) Trial balance totals may agree in spite of
errors./3fed % arasE gleer I TR Hema
2 Tt 21

(d) Trial Balance only confirms that the total of
all debit balances match the total of all credit

balances./ZFA I Hae IF FO ¢ 5 Toft
e o T Fa shfee o ufer 9 A
Tt &
UPPCL Assistant Account 09.02.2018
Ans. (a) :uﬁwﬁwaﬁlﬂm—
(1) S-Y @ Jorell & FEw & e St S
(2) T & SHTT YA H ST BATI
(3) I @I aH § gieer yaH F
(4) TATHS T H FEHA FEAT
(5) e # whe B amch swyfEE-aa NS
T T, W H eTfE, o we # w,
@l o A wd oW e | eryfedl, daue §
forddt @ &1 @ S

(6) TAUS | b T B AT TIfesai—
(i) o1 1 rgfsar
(i) wRrEw afedl & Teyfaal
(i) G srerfsat
(i) e sregfsat
a1a: foheq (a) “Oft faeq e &1
What do temporary accounts include?
STt @At W e e &7
(a) Expense/sqd
(b) Dividends paid accounts/@THIeT TId 1 ST
(c) All of these/T4l fashea
(d) Revenue/Tsr
UPPCL Assistant Account 09.02.2018
Ans. (c) : T @It | I B—
(1) 79 Tg o9 @l
(2) 39 W g @
(3) i foe v frerdt @
(4) T AR T
d: fahed () ‘et fapew” W@ €
Among the following options which one will be
debited if the cash is drawn by the Proprietor

of the company?/fF=afeifiga faeredt o @ =R
Ifere feram wmom, ofe kot & wifetes gmT
ehg foreRTeT e 82

(a) Proprietor’s revenue/HfIehT T

(b) Proprietor’s drawings/afHed F SR

(c) Proprietor’s expense/ ¥ od

(d) Proprietor’s output/EHE T ITEH
UPPCL Assistant Account 09.02.2018

73.

74.

Ans. (b)
Proprietor's Drawing A/c Dr.
To Cash A/c
(Cash drawn by Proprietor's of the Company)

37d: fahed (b) 'Proprietor’s drawings/&fHE % 3T
& 2

75.  Which of the following refers to The trial
balance to:-

e ®§ ¥ s wderr @ges s gelifa wear
q-

(a) An account/Teh @l

(b) A statement/Tsh feraRor

(c) Reference book/HaH e

(d) Trial book/T{tefoT T
UPPCL Assistant Account 09.02.2018
Ans. (b) : Te0T Gqo i Fg@ frgand-
(i) T9e @ET & 8, dfesw @il St Tk g A
fereoT 21
(i) Te9e & Sfae wd Hiee wall & 9 A e
ST Y& & Tl 2
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76.  Out of the following which account will be

credited when the computer along with its CPU
is sold that has been used in the office?

frafeafias & & &9 o @@ & 99 S
fear ST e SEER e |t % Wy S
e ¢ et sauter wries § femen
T 72
(a) Sales expense/farsht =1
(b) Purchase expense/@{g =
(c) Office Equipment account
YR @I

(d) Official expense/SHNI g

UPPCL Assistant Account 09.02.2018

Ans. (¢)
Cash A/c Dr.
To Office equipment A/c
(Being sale on office equipment)

I f4hed (c) 9el 81
71.

Which sentence does not justify with the

purpose of Trial Balance?/ahI= |T aTeRT Treror

T 3 TRy F sfe T &7

(a) Trial balance ensures that the account
balances are accurately extracted from
accounting ledgers./Te9e a8 GAfeam & 2
f6 o@r @@ @ § @ WY w9 oale ¥
feha s 21

Trial balance ensures that for every debit
entry recorded, a corresponding credit entry
has been recorded in the books in accordance

with the double entry concept of accounting./

qaue g8 gt o ¢ 5 v 2fe sfafe
o F o, wERE e s T §
TETRd # AET FAfY SEERUT & TSR &S
T 2
Trial balance does not assist in the
identification and rectification of errors./
qaue Ffedi S vEaH R GYR F werar A6
FT 21
Trial Balance acts as the first step in the
preparation of financial statements./de9E
forfiar el ot Ay # qger Hed 21

UPPCL Assistant Account 09.02.2018

(b)

(©)

(d)

78.  The following information is supplied to you :

Frrefafaa gemmeit & maw w-
YIE T W10% S ¥ | HHI sl 9IRa &
& ST YeIeTh oh R St T |
Gross Profit ¥ 50,000/9ehcT &TH ¥ 50,000
Salaries ¥ 10,000/a ¥ 10,000
Rent ¥ 4,000/fT=T T 4,000
Office expenses ¥ 12,000/aRTIeTT & ¥ 12,000
Selling Expenses T 5,000/fsshar =1 ¥ 5,000
Advertisement ¥ 8,000/faFT9= T 8,000
Net profit before commission is ¥ 11,000
Y15 T HHIE 7& T 11,000
Calculate manager's commission @ 10% of the
net profit after charging such commission.
(a) X 1,100 (b) X 11,000
(c) ¥ 1,000 (@110
UPPCL Assistant Account 29.01.2019
Ans. (¢) : Given -
Net profit before commission is ¥ 11,000
Rate of commission 10%
So, Manager's Commission after charging commission=

Rate of commission

Net Profit before commissionx

100 + Rate of commission

10
100+10

11000 x

IIOOOXK: 1000 Rs.
110

79. The following data is available in respect of X

Ltd:

T fafie % wEw § fretated sted
IUTeET §:

(i) Opening debtors T 12,000

RN e 12000 T
(ii) Closing Debtors X 15,000

3ifom 3ER 15000 T
(iii) Credit Sales¥ 28,000/35%2 fasal 28000 T
What is the amount of cash received from
customers?/IT&ehl & TG ek T T 7
(a) ¥ 25,000 (b) ¥ 3,000
(c) ¥ 28,000 (d) ¥ 31,000

UPPCL Assistant Account 29.01.2019

Ans. (¢) : T THEIUT S dAH 1 35aTT—
(1) <8T oiEr Sumedt & fFaml & g 1 St B
(2) Tl F SRV Y A Sid HEAT|
(3) AR F N fRafq H TS T HEAT|
(4) <" @ S F GRE T&E HE FG-a-
i @, s faegn
(5) oS T | HRTal ST |
;- faed (c) TeuT TqeH s i 333 T 2

Ans. (a) : Opening debtors = 12000,
Closing debtors=1500

Credit sales = 28000

Cash received from customers = ?

Opening debtors = 12000
Add: Credit sales= 28000

40000
Less : Closing debtors 15000
Cash Received from customer 25000
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80. Legal fees paid to acquire a plece of land is

Ol T Teh THST YK A o T JTa=
LGRS

(a) debited to land account/sf¥ @Id # Sfae

(b) debited to depreciation account

T B9 @ | sfe
(c) debited to profit and loss account
-3 =@ # Sfae
(d) debited to miscellaneous expenses account
fafay = @ & 2fee
UPPCL Assistant Account 29.01.2019
Ans. (a) : 9 B I FH & AT ST F B TEAE
FET gSA@ € 39 9 @ & e vy # fa@mn Fifs
9 W feer T WY O @ § a g qf 9 e
F T 2|

81.  On receipt of the bill, which of the following
entries is made by the payee in his books of

accounts?
foer =t witd WX = hal gRT STu erEn
geent § T | ¥ -6t giefy & sae?
(a) Bank Account Dr.
Discount Account Dr.
To Bills Receivable Account
(b) Drawee Account Dr.
To Bank Account
(c) Drawer Account Dr.
To Bills Payable Account
(d) Bills Receivable Account Dr.
To Drawee/Maker of the Bill
UPPCL Assistant Account 13.09.2021
Ans. (d) : fafma faux FI WHR HFH R Drawer I
% # f wfafy & 2
Bills of Receivable A/c Dr.
To Drawee A/c
(Being B/R Accepted)

Which of the following statement is correct?

T HH-| HAT T 87

(a) Salaries paid is shown on the credit of the
Profit and Loss Account but outstanding
salaries (when given in  additional
information) is shown on the Liabilities side
of the Balance Sheet and is added to salaries
in the Profit and Loss Account./ T fe=
w é?r:f aA-g W % hee vy # foran
%aw T (S AR o &
T ﬁ) forg % aifes vt & feren <t @, @i
g1 @ # aa | Sig famr S g
Salaries paid is shown on the debit side of the
profit and Loss Account but outstanding
salaries (when given in  additional
information) is shown on the Assets side of
the Balance Sheet and is deducted from
salaries in the Profit and Loss account./
F fean T 9 e @ & Sfae v d
foran ST 8 den g da (S i gE
& T @) g % e gy A fewmen o o?
T en-gie | § 9 § ¥ s fan S g

82.

(b)

(c) Salaries paid is shown on the debit side of the
Profit and Loss account but outstanding
salaries (when given in  additional
information) is shown on the Assets side of
the Balance Sheet and is added to salaries in
the Profit and Loss Account/¥7TaM T fear
T 96 AH-g @ % Sfae wg # fawren
ST & @ S de (S R ger &
T ) fa3 % iy v F fagmEn S d qe
Arg-gI @ # da # Sg & s 2
Salaries paid is shown on the debit side of the
Profit and Loss Account but outstanding
salaries (when given in  additional
information) is shown on the Liabilities side
of the Balance Sheet and is added to salaries
in the Profit and Loss Account./s[Td e
T 999 aE-gf @ & Sfae v § fammn
ST 81 S S da (S Al gEar &
T @) fag & afrE ger § femn S @
A-g @ # Ja4 § e e S 2
UPPCL Assistant Account 13.09.2021
Ans. (d) : 997 T 3T AT 7, 9 N9-81 @ &
Sfqe vy # fem@men s 81 S feq 9dq & Hg %
T e H @ S @ 9 gEel d9ad H Sl
feaman st 21
83.

(d)

Single entry system of book-keeping system:

TeheT JiafE qomrett, st @rar

(a) Best system/Sarqd SouTeA!

(b) Scientific system/asi=eh oTTet!

(¢) Incomplete system/?ﬂ‘{ﬁ SUTTCAT

(d) Most popular system/Taifess b= JoTeA

PUNJAB ASSISTANT ACCOUNTANT 3

Ans. (c) : Thel SAfE JUTTel] T&qarer & Teh 37 qoTed!
FE S B 1 DT AT TR FH A W A A @ H
T B % 9T W&AE H Th qERe ade
B 21 o o faeon & fmior e 2
YIS UM 21 g S # ae I
YUTGl &1 STV g q9T Qeq ol umett &
YA i S R
84.

q
Ie
& el
o A

M-E|

Any difference in the trial balance is

temporarily transferred to:

aeue # fereft off yeRr T 9w W 3faw, erewrsh

AR W gEataita fewam s )

(a) Drawing A/c/31@{0T @Idl

(b) Suspence A/c/3d=1 @Idl

(c) Capital A/c/dSTt @

(d) Reserve A/c/Rid d=

PUNJAB ASSISTANT ACCOUNTANT 2

Ans. (b) : 9= @A T8 WAl Bl & S {3 qeige &1 9
s A & araeE off T e 39 srawen # o o
3T M @I BT @ 9 39 & H 3= Wil (Suspence
Alc) & AW ¥ U e S 21 39 WA W AN qeae
% e =g fopam ST 21
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85. An entry which is recorded in both the sides of

three-column cash book is known as:

g ity St fagdt wem g gEw & gEr

Ter ® foredt et § 9w wEerdt €:-

(a) Contra entry/sigT gt

(b) Complementary entry/q%h fefee

(c) Opposite entry/faadia sfafte

(d) Compound entry/garsis Sfafte

PUNJAB ASSISTANT ACCOUNTANT 2

Ans. (a) : BT FEE § T9d THs 3N &% @A T T2
A 21 aE WP 3% @ A A @ A
e B 81 WS W # HiT H Ao Aol g
2| S gfafedi &1 d% q9r T Al W e 9o S
Qe T U &1 IEET b AR W A IR ¥ U1 gI ae
S H w1 fper) sOH W@ B W Sfae § Fw wiem §
a9 shfee o d Hiem & fe@man S|
86. The debit balance of returns shown in trial

balance should be

fere 91w, aerge § geriaT AT §:-
(a) Deducted from Debit side of Trading
account/=TIRS T4 & Sfae 97 § ¥ 727 HL
feraran s 21
(b) Deducted from Credit side of Trading
account/=ATIIRH T4 § e 97 § F F2T HL
feraran s 21
(c) Deducted from Debit side of P & L
account/ay g @4 & Sfoe w1 § ¥ =T T
feman s 21
(d) Deducted from Credit side of P & L
account/ad B WA & shise U&7 § & =T
@ S §
PUNJAB ASSISTANT ACCOUNTANT 1
Ans. (b) : Ta9e 1 Sfae # f@mn T avdt fasa amg
g & adr foshe arad &1 fosha § ¥ wer e @ S
21 At fasha f&an @ @ Trading A/c S0 &9 foshar a1
Trading A/c & Hfee Ta1 § fe@mn smwm qon fasa
adl S qeve § Sfoe § fawd wh g, 39 e § ©
FTRL famar S|
87. The total of debit side of discount column in
cash represents/Ig T&Ih % T & B
HTCTH <hT TN ST &-
(a) Excess of Discount allowed over discount
received/fST T B & I Y B T a@d
(b) Excess of Discount received over discount
allowed/¥T@ fFT 7@ &2 & Iy 71T Y W
ded
(c) Total of Discount allowed/$a fe=m e B
(d) Total of Discount received/gel I fam T B
PUNJAB ASSISTANT ACCOUNTANT 1

88.  Which of the following is a Real Account?

= & | =i arataes @ §-

(a) Debtor's Account/SGRI T G

(b) Building Account/qa- @rdl

(c) Creditor's Account/-ERI T @

(d) Rent Account/f=T @rar

PUNJAB ASSISTANT ACCOUNTANT 1

Ans. (b) : fr=fafad 9§ 9 saa g7 (e & = 9=
AT Wi ¢ | adfas @ 98 @i 1 e a@r S
AT 81 T N obal g1 T T ITR AT TR
Representative personal Account 2Id 21 qur R @
F! AT AT AH T W1 Sl T 2|

89.

Treating abnormal loss as normal loss leads to :

ST B T Sidie WA= e o &9 o

EGIES

(a) No change in profit / @9 § g qRada Fai

(b) Increase in profit / A9 ki gfs

(c) Unrelated to profit / 3TH&fed a9

(d) Decrease in profit / T4 o

UPPCL Lekha Lipik 27.09.2021 (Shift-1I)

Ans. (b) : & 3T BN F adid T B F ®9 §
2T € 7 B o gen F aw § ofy @ @ [ ame
i w T el @ R e A S G € 39 R
g & Bl o S % For i § ¥ TeEn S 8 oed
mmqﬁwmm%;@wg@éﬁ%
90. The liquidator normally gets the remuneration

in the form of commission which is usually

based as a percentages on the value of assets
realised and amount paid to .......... creditors.

TREATIER Rl AT AT HHITHE & & |
YT BT &, S W W STRet & '’ 3|
THTRAl T A HE TR AT W TH
gfe9Te o &0 § meria g 1

(a) Secured/Sfeqd

(b) Unsecured/379fa¥qd
(c) Preferential/3Tfemmt

(d) All of these/a Tt
HSSC Accountat Assistant 20.08.2021
Ans. (b) : @fes guod & gua wiRefs &1 Fuio
J3% (Meeting) ST a1 ST 2, S uRgwmas &t fgfe
FT 21 GEFT AR W uiRsfie d, SR W oaHeE
R SRR AER F PEE H T R W FHHEEE
yferet et 81

..........

91. Which of the following is not business
transaption?
e & | i |1 SHaEtties weeT @ 87

(a) Payment of Rs. 5,000 as salary to

Ans. (¢) : ¥ T/THg Teash 1 Sfe 9 A 9 @ loyees./FHaMA @ T 5000 A H
Sl bul S ottt IS |

a@ & o feredt G‘T@-ﬁ AN (b) Appointment of Mrs. Usha as typist on a
g Ak FE BT TEH H W g @ 9 o @'f%l?_’ salary of Rs. 5,000 per month (for personal
STft) St ks 1 Sfe oy # W work). /#Hdt 39 # F. 5,000 HHF W IHE
Ya S T B2 & g 1 & w9 § gt AR s 2q)
Assistant Accountant Planner 30 YCT



(c) Payment of Rs. 5,000 out of business bank
account for school fees of child./=TadE &

I% WH F a=d & fFEed B Yk T 5,000
STHT S AT |
(d) Salary unpaid Rs. 5,000 at the end of the year.
T8 & 3 H 5. 5,000 H S THAT|
RPSC Junior Accontant 2013
Ans. (b) : FFTIE e T acad T Tt o A1 =
TRT AT 3TCRT ®Y Y G Y Gl @il g
- wnfeer R S
s A I A Frgfe SR B B R e
T & g e aren aaq e =fte e 9 gt
g 7 fF MR & oH-37 H1

92.

Which transaction out of the following results
in increase in assets and increase in liabilities?

frafafas & & ffm =eEr &1 uRumw

Tl § ghg a9 g § ghg e 87

(a) Goodwill written off/TATd @I T TIGT

(b) Collection from debtors/&TaRi & a’ggﬁ

(c) Credit purchase of furniture

e 1 IUN 5
(d) Payment to creditors/AERI RuGIE)
RPSC Junior Accontant 2011

Ans. (¢) : BHITR & 3R T T & HROT G §
gy aen fal # o gfg S 81 SUR W %T B TH
SR 1 A B 8, PR a1 5 F A FH e
FT BT 81 SECIT YR 9 T ¥ gy 9 F 9o
Ty e wer & o g et 21
93.

Which of the following error affects gross

profit, net profit and both the sides of Balance

sheet?

Trfafad § @ wE-H o9l et o9, 5

e et Refa faeror & AT el st gwrfer

wt?

(a) Personal expenses of ¥ 2,000 of trader were
debited in sundry expenses account/SATaRI Ed

st @ 2 2,000 fafae =79 @ & Sfoe 5
bo}
(b) Received % 10,000 from Suresh against his

Ans. (b) : T@EHT oA (3IfEA) AEET i H
Rl &0 I e Fd THT H T GHET TGS B
Hafia s g1 3 faEmfoat Fueyrl 98 § SR WaR W
THfa & e § B 2|

el o FehR-

* T W

« forgia &

« Fier # R

s g & 3fe

T F 3ITH FOT & % 10,000 I g€ S fasha @ §
ST foher AT SAYfE Hhel o9, Yo oy der Rafq
fereReT o a1 ail i gefed HT |

94.

The discount account in triple column cash
book records :

T T arelt T af ¥ e @ e fwen

KIGL % :

(a) Trade discount / ATANH T

(b) Cash discount / 9hg &<

(c) Seasonal discount / B iEse) B

(d) None of the above / Iﬂﬁ’rﬁ T q e T2

UK SSC Assistant Accountant 19.05.2019

Ans. (b) TF @H arctt Yhs T8 § A6 I F @l
foam ST &1 TR B TF Weed & S kT 5 WlER #
freffa < fofy & vect a1am &1 FIam & & fau fear s
R 1 Tba B HI o, I GEiSH A fba S 2
95.

Which of the following statement is true :

frrefafiaa § 9-91 w99 G &

(a) Accounting & Book Keeping are synonymous
gl d J&ITe Tsh FHH

(b) Book Keeping &  Accounting are
complementary to each other/ &I
TEIHT Th TR F T &

(c) Accounting starts from where Book Keepin,
ends/aﬁwwﬁm%, aﬁg
AGih TR B 3

(d) Both B and C/ B iR C gHi

UK SSC Assistant Accountant 17.01.2016

Ans. (c) : THUEH # RS THSH F o Higd SHE J

forad T wEeer § aiiga $ @ don d@ 6 e 9

Y FEEE ¥ Gt geel 1 ditd 9 § 3651 B,

GRS ST, FEeior T qe SR 3§ 7

loan were credited in sales account/HR3 g
3T T % % 10,000 I g€ S foppa @ H
ST foRar

(¢) ¥ 2,000 incurred on building repairs were
posted in Building account/¥ad AR & I
2,000 &7 @ # & & ™

(d) 4,000 received from Rakesh were posted to
the account of Rajesh/m ¥ o\ T 4,000
TS & @ § @ & ™

RPSC Junior Accontant 2011

TEAUTA 1 B & T BN @ 8 § Ao @ e
TR B 2
96.

The object of a trial balance is to check the
correctness of a ...............

FETE T SV TG S AT TR
(a) Journal / S
(b) Ledger/ @l a&t
(c) Final a/c/ 3ifaw EEIG|
(d) List of Personal a/c / KT @Al ‘{iﬂ
UK SSC Assistant Accountant 17.01.2016
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Ans. (b) : TC9C S 1 I23T TE RS HLAT 8 16
T 9 & gl AW wg 5w et S ¥ sifteifad
oft ¢ @ erger 7, oW W @ deuC WM & S2Yd
WA & F ST BT e 2
97.  Which of the following does not belong to debit
side of trial balance :

e & ¥ - 7e qaue & Sfe T @
(a) Building / 9f¥ (b) Debtors / TTER
(c) Creditors / SRR (d) Purchase /%3
UK SSC Assistant Accountant 17.01.2016
Ans. (¢) : A9 T T2 dfes @Ml F TH g E,
Taue & Sfae v 4, yifs @, %4, fomg amo,
TG = 9 gl AR, GHE GfEt o 3 7 |
98.

In case of non-agreement of Trial Balance the
amount is temporarily put to :

AAUE ok &l THer st Reafa W Sfa¥ =t Wit =t

STl ®U § WET SR

(a) Debtors account / ITER W §

(b) Creditors account / ISREECI i)

(c) Stock account / ¥ o H

(d) Suspense account / 3¢ T b

UK SSC Assistant Accountant 17.01.2016

Ans. (d) : — a9 & &I T & Rafq § IR i iy
® S0 @i § Sl §9 Y @l S 2|
99.

If unexpired insurance appears in trial balance,
it should be :
Tfe doue | ‘romTe sftar’ femren T € o
Ig fe@mar SeAm ¢
(a) Debited to the trading account
IR @i & fae §
(b) Credited to the profit and loss account
aA-g @ & hfee &
(c) Debited to the profit and loss account
A8 T & Sfee §
(d) Shown on the assets side of the balance sheet
anfier fag & Hufvy a1
UK SSC Assistant Accountant 17.01.2016
Ans. (d) : 9% qo9e ¥ STEATT ST fe@rEn T e

Tg oM fag & Tafa o # fagren e
100. Total debtors account is prepared to know :
HT TAGR WA FATET A€ E

(a) Credit purchase / 38 sy I JA B H g

(b) Credit sales / 39R & 1 I10 & & foIC

(¢) Cash sales / 7% fasha il 1@ F & I

(d) None of the above / 374 H ¥ FIE &

UK SSC Assistant Accountant 29.11.2020

Ans.(b) ISR @l (Debitors Account) — g o &
e &t 3R fasa & I@ & faw S @
ST ST & 39 IGR WAl Hed § | 39aR (debitor) T
& A1 G F AT B & S T % A H SER H
H %\ 3R 39 @rdl ol S/ SR (Balance) Feoft
(debited) g 21

101. The account which will be credited while making

adjustment entry for interest on capital is :
Ut wT =T & fog gfafe & aw
T WA shise &R, 98 € ¢
(a) Capital Account / ‘i?ﬁ Qrdr
(b) Interest on Capital Accountfi?ﬂ T 1S Qrdm
(¢) Profit & Loss Account / A¥-gI @l
(d) Interest Account / sITsT Wrdl
UK SSC Assistant Accountant 13.05.2018

Ans. (a) : OST R =S & fofT gomeH wfafe st w0

dsit @ shfge & 2|

102. Wages paid to Mohan for establishing a
machine should be debited to :

HIgH @l WY &t TAUAT & & T =
&Y TS A I, AW § frE S e
(a) Wages Account / tﬁl{ﬁ Qrdr
(b) Machine Account / HZ @
(c) Mohan's Account / HIgT 1 @
(d) Cash Account / Tl @
UK SSC Assistant Accountant 13.05.2018

Ans. (b) : - {58 U7 % =EEE § 3 W 34 =E@E
# 3T H A s b ot off T few 9 &, 3
Toft O = 8§ qor Gefem gft @m § Siget
forg S €1 SH9- 7Y i wer & foe sREite o,
Togd, T & T ygw 9l ', e W 6 e
gt (enfe Ianfed wie faska Ama T @) enfE eft

e @ # fordt S 2

103. Withdrawals by the proprietor would :
IEH W o R TR~

(a) Reduce both assets and owner's equity
gt v @t onar <H § e e
(b) Reduce assets and increases liability
Tt & o wd A § grg @
(c) Reduce owner's equity and increases liability
@t & T § S ue afie #§ gy et
(d) No change / ®18 aRad =&t
UK SSC Assistant Accountant 13.05.2018

Ans. (a) : — OO I W FGEE § ST W
= # Wufa A F ¢ aun g § of F+h a2
Capital A/c Dr.

To Drawing A/c
104. Understanding the basics of Trial balance,
profit and loss account and Balance sheet
would be considered as a.....skill for a Accounts
Managers.
Teh @ Yeiereh & o, sheerm e, @y 3iie
T AT 3 AU & TS Tl THSAT,ceceeen
I o T | THS AN
(a) Conceptual/a=ieh
(b) Technical/Th-Tht
(c) Design/®dich
(d) Non-Technical/TX Tehteht
MP PEB 09 Jan. 2017 (9.00 am)
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Ans. (b) : TH1 B difess a1 BT Hal & HH
¥ fSIvgar 1 UGN Sk 9| fHU T T }1 T8 HE
THR F B | TH AW YeGE F A Feal e, oo
S T @A SR qoH T F A H GESET qoheih
eI & &7 H GH ST |
105. Which of the following is an intangible source?

forer ® & 19 91 Uk 31e B §7

(a) Technology/STenfiret

(b) Machinery/ =3l

(¢) Raw materials/ah=dl HIcT

(d) Capital/dsht

MP PEB Group-II, 11 Jan. 2017 (2.00 pm)

Ans. (a) : 3 B0 A1 3E ifds &9 78 8, 3% ongd
Hie a1 3 TR % &9 H S S §, SaRl- HE
F wf, JeAh, Yeve, SHIfE o 8|
106. Among these, which item is used as the base for

preparing trial balance?

AU S | 3AH W i W A @ STt

MR & AR U2 fea ST 272

(a) Cash A/c./A%g @Il

(b) Balance sheet/aTfde fagr

() Journal/ASHTHET

(d) Ledger A/c./@rdl-agt @

HPSSC Accountant 01.08.2021

Ans. (d) : T9¢ IR & & AU @1 9@ @rar &
YR F &Y F GET SN &1 AU H GHRT T
@l ¥ e a1 Hfee doiq & ®9 § T qued 99 &
el Tk TR fohaT ST HehT 21
107.

In Trial Balance, which accounts with normal
balance is recorded at the credit side?

e fogr § 9T NI % WY T ehia 91

WTAT hiSe T TRl STaT 87

(a) Bank Account/ss G

(b) Equipment Account/39h{0T ETdl

(c) Cash A/c/dhs @rdl

(d) Accrued Expenses A/c/3UTSid @< @

HPSSC Accountant 01.08.2021

Ans. (d) : 99T I TR ST IUSIT =59 A H 1AA
J4T % Hfze vy A femmn s 31 sl ==, W
IYTa 39T % &9 F off ST ST 8, U @i e @
ST 39 =g B Geid AT @ B e e 99§ wa
T W TEEE S 81 df S = afgs #§ qes
TAE B & AT B & a1 SR #5192,
3% FE # Soig e W S FERE F w9
fergran < 21
108. Which items

agreement?

T W ag wmeen fogr oA & gt st

®?

(a) Deposit in transit/ATTE ST

(b) Compensating errors/&%ﬁ'{@ﬁ k! 3t

influence to Trial Balance

(c) Complete omission of a transaction
HeragR &l Ut qfa
(d) Partial omission of a transaction/HeTE@R &

HPSSC Accountant 01.08.2021

Ans. (d) : TFEGER F AN 9% ¥ A do9 &
uga W T Y| T d-37 FI ol TH Uge] Tl
aE # de R S 2, a1 39 onfvs g% & I wa

ST 21

109. When Trial Balance is prepared?
AAUE el TATAT ST 87
(a) At the end of accounting period
o Ay % 39T #
(b) Attheendofa year/alﬁf & i |
(c) Frequently during the year/El'lﬂC % S TREN
(d) At the end of a month/TeI4 & 3id |
HPSSC Accountant 01.08.2021

Ans. (a) : T ST THI-H9 | TH qe9 da Sl
2, ITHAR W Y% ROET o@fy & 39 § 3§ dar e
S &1 A9 S Bl GH I8YT T GrEd S @
5 ot i SEraEr g # et 1 w1 9 o

21

110. Which kind of loss cannot be carried forward if
the return of loss is not submitted in time?

Tfe =re = foawur goar w g T e T
g ot T WeRR & OIS Rt 3T =E feRar ST
HhdT?
(a) Business loss/aMUR 2T
(b) Capital loss/gSit =2t
(c) Loss from activity cannot be forward if the
return of loss is not submitted/Tfafafsr & g
T &I S A A ST ebar AR W
fererur s &1 femam T
(d) All of above/SWE Tt
HPSSC Accountant 01.08.2021
Ans. (c) : A B1C T fFaX0T THT W TET & fha T
2 dr ety § gu e i o FE fhar ST wear At
o 1 fyawer &g T fowen 2
111. Mention the net amount if "Source" or "Use"
of cash when a fixed asset having book value of
15,000 is sold at a loss of ¥5,000
T15,000 J&ieh Wed ht Teh TR uREufa
75,000 <ht BT T el ST WX ke T &’ a7
‘ITERT’ T ITg T 9T
(a) use T5,000/3941T Z5,000
(b) use T7,000/3FFT T7,000
(¢) source T12,500/F 12,500
(d) source Z10,000/&Td T10,000
HPSSC Accountant 01.08.2021
Ans. (d) : T 15,000 T o W Th @il g 3
5,000 § a9 S R AR F ITAN H TS TR 10,000
il
15,000 —%5,000 =%10,000
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112. Goods of the list price ¥ 30,000 is sold to Ram
at a trade discount of 10% and cash discount of
5%. Ram paid 40% in cash. The amount of
cash payment done by Ram will be :
T 30,000 Tt T T WA TH T 10% SATUTRER
FE qAT 5% Tehe T T STl TH 3 40% Tehe
A fRaT TW & g e I i S
et [T aelt

(a) T 11,400 (b) 10,540
(c) 10,260 (d) 10,200
CG AAO 2015
Ans. (c) : T 30,000 T 9T & AA I 10% SRS B
TR I
ferehl e &1 Y& TR = 30,000 — 30,000 x%
=30,000 — 3,000
I[E S TR = 27,000
Fhe BE = 5%

Y& FhE AR = 27,000 — 27,000 x %

=27,000 - 1,350
= 25,650
TR AR 40%

T G = 25,650 X % = 10260

113. A cheque received and deposited in the bank on
the same day is recorded in the :

T oo 1 e fo wme gom Set fo 9w o
Tt Y e e @ Renrd feram Smom—
(a) Cash column of the cash book
g T H Tehs W
(b) Bank column of the cash book
ke T & o W §
(c) Credited in the cash book/U%g T&ih ¥ whiee
(d) Debited in the cash book/ The T # Sfee
CG AAO0 2015
Ans. (b) : TF 9% S {59 & wra gon s+t e &% &
ST FU A &, A TR Gl JFE [ b A6 W §
g, FifH fF Bem Uhe TS § dAh W H HA
I gar @ e 9% § gt woft syt @ oma
fepam ST 21
114. Which one of the following transaction is not
shown in three Column Cash Book?

= % ¥ ;- FaEr G e wew
| gt =t grm?
(a) Purchase made by Debit Card

efoe w1 31 %A
(b) Received advance commission

HAIH FHHRE T
(¢) Received cheque/STeST ST feam
(d) None of these/ZTH T i T

CG AAO 2015

Ans. (d) : Sfie &€ g0 %, ABM FWYH @ AR
¥Ry W fher zEd ¥ Rl @ o et I%s
s # A6 foan Sl e I gWe # s @
W 3R 6 F W E ¢ GO T99 geiue FR
o & g

115. Debtors balances are verified through/ﬁqﬁ'ﬂ'
I T GeTu feRwen Hrem § feRam e &7
(a) Confirmation from debtors
St 9 SR & e
(b) Confirmation from company
FTR @ i A e
(c) Confirmation from sales department
ot faaT o1 3R @ g
(d) Management representation/Ssie Sftrere
JMRC Junior Accountant 20 May 2017
Ans. (a) : T 36X TH HWH a1 =4 @ o0 T 9
I 81 AT BT =ARE A1 ween R e A gen &
YR WS I 7, q A BT FA A ARD fashdr H
3TER FEATIT | 3R S sefg f@mr 81 3R 99 &
oo IERT T I F H S 2

Balancing the Books

(IETRT T TfeTa sheT)

116. Which of the following errors does NOT affect
the trial balance?

7 @ i qfe aee gt T
wHAT &7

(a) Omitting an entry altogether from the
subsidiary book/TeT® & ¥ UH Hfafy &
i T § Bie
(b) Posting an amount on the wrong side
T 9t § U 9
(c) Wrong casting of the subsidiary books
TRTIH Tl I T HIE
(d) Wrong balancing of an account
M & T G |
UPRVUNL Assistant Accountant 15.05.2022
Ans. (a) : 9, TAEE & AT T TIR fHAT ST 8 W
S sfafyel & @ 9 TR G S 21 A S oH-
A o e ¥ e & wfafy e S @ i @
¥ U fpaT S 2, A detge 1 A Ad e dfee,
R S Told @ 3R 36 Terash I (Taeg) § g
T fHar S @ @ 9 waeW @ 6 @l | S 2
a7 fee F U@ T TSI T WS TWH § Th
ey & g TE VI deue W BT J9F TE ST |
117. To find out the opening and closing capitals,
statement of affairs are prepared:
YRftaes UE 3ifed USht wa o o forg fRerfer
TaramuT St ST WA §-
(a) One/l
(b) Two/2
(c) Four/4
(d) None of the options/3TH 1§ Tl |
PUNJAB ASSISTANT ACCOUNTANT 3
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Ans. (b) : TRf¥® qar ifm ¢S 9w & forw Rafy
foraeoT SR ST 21 3§ @ e & Refy fEwor qen
et aife @ Refa faewor @1 s 81 g aifie
&1 Ry foaor # Sefvr s (Rafy faewon) &t @ & @
21 O, o9 B o Rfy e ey el w| # wE
& ) g famfor sifem qan yRfvs OSt & Arew 9
19 G T UM HEAT el 2|
118. If the opening capital is ¥ 60,000, drawings ¥
5,000, additional capital introduced during the

year ¥ 10,000, closing capital ¥ 90,000. The value
of profit earned during the period will be :

Tfe smfs Ut T 60,000, 3R T 5,000, T
wt fafteh Usit T 10,000, =9 YSft T 90,000
g, a1 o6 o SR STt T B
(a) 40,000 (b) 250,000
(c) 25,000 (d) 35,000
UK SSC Assistant Accountant 19.05.2019
Ans. (¢) 3RS TS =2 60,000
3T =% 5,000
T3 FI SAfRE S =2 10,000
sifem gsft =2 90,000
Sl @ =3 2
ga_
R4S = 60,000
+ faf® gt = 10,000
70,000
5.000
65.000
119. Tallied trial balance indicates :
qeTUE T et o &
(a) Accuracy of book keeping / SigI-GTaT &t L&l
(b) Proper maintenance of books of accounts
I I 1 3 -

(c) Arithmetical accuracy of books

(d) None of the above / ETRi’rF T q e T2
UK SSC Assistant Accountant 13.05.2018
— @ 98 ¥ 9 T @l & 39 9 dade

sife| gt = 90,000
— 65,000

T @9 = 25,000
—_ W =

Ans. (¢) :

A S 21T @ ¥ S e A S %
T de9e /@ ST 21 A de9e 1 Sfde ue den
HfET ey <A SR @ar 8 o @ o 2 fF @
SFHIOHE &9 ¥ Y8 T T 2

\ B Preparing Financial Reports
(for<fiar e o awem)

120. Which of the following is NOT a part of

financial statements?

e # @ s=-an faehie faeor o e =@
77

(a) Income Statement/3T& fereRoT

(b) Statement of fund flows/®I¥ Ta18 &1 fgawoT

(c) Statement of financial position
fercitar fafq a1 feremor
(d) Statement of cash flows/AHg Y18 & feawor
HSSC Divisional Accountant 2019

Ans. (b*) : g foawor f5dt =@am & wevl, fodim
fafy o Uhg ¥oO® # TF T@R T©H F 81
TEES H STAN FE9 TEE, SUREme, dERl SR
TS S Ush BT 1 Jodioh B o foTq e S 21
forter foramor o s

1. fIgT (Balance Sheet)

2. @9 B @Ay faawon

(P &L A/C/Statement of Income)

3. Y yarg foeo (Fund Flow Statement)

4. s yaTg faamor (Cash Flow Statement )

121. The balance sheet allows investors to assess all

of the following except

qdue & fafeafaa wt sget adft
T 3MeheT= T Y STTATT T )
(a) how efficiently the company's assets are used
aREufael &1 fhat FrAd § ITAN
fepar ST 2 |
(b) the liquidity and financial flexibility of the
company
FHOT T A 3R forefr erefer
(c) the income and expenditure of the company
HUA F T SR =
(d) the net realizable value of the company
HUA BT 7S THHWT T
UPPCL Assistant Account 20.11.2016
Ans. (¢) : Wﬁmm%ﬂﬁaﬁﬁ(@ﬁ
ferarom) fordtr fRafe fawor off wed &1 39 ©F & TS @
ST S @ e et oft e gwa W dw @ R
feofd 1 & AT T T AR faewor fewmr @ f6 sw
% UG I Y TR g R ate 2
HEAT B S v § 09 W @ € a1 s ol e
2 a1 39 S F A ¢ a9 39 g W & S
TEdt 21
(3) T T S FEHHOT &1 FE = + OSh
(4)341@%@?1?“@%3@1%&%@ A T
gl wd aifet & aR § aar 21 55 9
I T I v et i fearEn S 2
(5) T8 U Rofy foawor @ s ws fifem fafyr & don
fepan ST @ THH S ¥ T A Ay | e
F IeRal T a1 g er 2

‘VII. Stick to a schedule (3TTgEM)

122. Which of the following is true about PERT
system of scheduling?

PERT WUTTeAt & faerivor & aR ® frefafad o
| HiT |7 wE E?

(a) It is not applicable for any capital projects./a@

fepeit off dit uRarsmreii & forw oy e 21

-tlzﬂ
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(b) It is a critical application for project

commission on time./IRASHT HI F7F T =1
FH & U 98 T Heaqul AT 2|

(c) It is used as a tool for monitoring sales

performance./9 ST fagft Y &1 FERET
% foIT U YT F ®Y H A A 2
(d) It is tabulation of important personnel in the
project/3g e ‘TBV—@THC Ffa @
FRofisheoT 2 |
DDA 26.09.2017 (2.30 to 4.30 pm)
Ans. (b) : FEFT ol 3 e dFis (PERT =
Programme evaluation and review technique) U
ST # FEf # o9 FH N TF Aeaqol g fafy
f=Id (CPM = Critical Path Method) faifd & &
fow Suam &t S Al T fafy @1 98 s ufRdeEn &
W FH & fqu =aam g fgia & & e &
1 3R Y O fia & @ & fau savas
g 1 fEeesT Hr 21
123.

........ identifies the order of activities to be
performed in order to achieve a particular
goal.

ferelt fargte @1ea &t UTe & o foTe wefvta =t

AT B

(a) Break-even analysis/¥9-faesg farwaisor

(b) Scheduling/3TIg=

(c) Linear programming/iﬁfw" UG

(d) Budgeting/asifeT

MP PEB Group-II, 11 Jan. 2017 (2.00 pm)

Ans. (b) : FFdl v @ &t @ F % forw wefdfa &
ST ATelt TR s A eryE iR W 8
afeeT e # frefor tsw ofEser & e fafafied,
F G 21 T AT § AR W T Em IRe
3R gt fafy, safy st wafw wfafafy @ @@ Tg
U e 8 2

‘VIII. Storing Record (TS wugwum)

124. Tr=fefaa & & &9 < @ Jfe T2 72

(a) St A § 9= 9 2,000 H TRT TN T 4 B
F @ § o T

(b) @f" T&H(Purchase book) H F9 3,400 F
AHE T

(c) I 1,000 i fst fed ot T ¥ fsl fed
% T g & S g N U e @i A
e & I R

(d) ®9F 5,000 ¥ T T HHR F Tl gWH
¥ ot fopar T o

UPPCL Asst. Accountant 22.02.2022 (9.00 am)

Ans. (b) :

Tl g # A AN 3400 F0 3t o femm e At
Ig TH T I 81 W I fah wh Ed W Fm|
Safs o gt foswed § @ @ Ifeat wfmfed § @
T Jfeat 9 @ St Th g b=t & @t 3FeraT T Wi

% a1 gEl S e e g

125. The calculation of days from the date of
transaction to the date of settlement is made by

g S S A g

Y ITUET AT E

(a) Forward method/3T &t fafyr

(b) Perpetual method/9ar faf¥

(¢) Epoque method/uwdis fafyy

(d) Daily balance method/3fe 31 fafer
PUNJAB ASSISTANT ACCOUNTANT 2

Ans. (a) : G930 & 4 o9 3 & oy F & A
& o S W fafr g R S )1 sl fafy
% g ot o o9 Y fafy qen wweiar o fafy &) o
F IR R OUE A WEN & g ol 21 ST TH
fafyad fafy = fAfvem g W &= 37 1 feifa s 2

TOY ATY=arst s w9 o S Hehar 2|

126. Outstanding expenses shown in trial balance
are recorded in

37 Tell ol (deue | ) e ot 8-
(a) Debit Side of P & L account
P &L @ & Sfee ge1 &
(b) Credit Side of P & L account
P&L & hfee g &
(c) Assets/FHar
(d) Liabilities/aferat
PUNJAB ASSISTANT ACCOUNTANT 1
Ans. (d) : 3760 =9 S % qorge § Ry U @ g Rufy
foeRoT # qfa w1 # fa@mn S Ak sted &g ddue
T o e T B 9 36 on9-gie W & efee v §
=9 § See e aor o & e § off fwd ) s«
F A AR F FR e 2 A 3¢ Faa Al F &
fa@ran s
127. Trial balance should always tally due to the
rule of

30 fom & ofmid, T aoiw (I Tdterun) T

e FHe g =Ry

(a) All transactions are transferred in the trial
balance

gt A9-3T F A S (I wdeon)
TiaRa X fear St 2

Every debit has a corresponding credit.

Yo ST I UF qEIEY Hee e 8|
Assets and liabilities are equal

e T IaEt SR 2§

Income and expenses have credit and debit
balances

Y UF = F FHfee TE e oy B §
MP PEB Asstt. Audior, AO 07 Jan. 2017 9.00 am

(b)
(©)
(d)
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Ans. (b) : T&IF EfSe FT TH GaIEYT HieS &l 21 I
foerm & ofarfd e adw (I wleron) 1 e gEem
B =Ifeu| oA i ded Wy el w1 fasia 9w
el ¢ 6 5% Sfee & UH 9 e & @ gErn
aoft Sfeet & T A @ T4t HfeSt & FA AN TR
2T IfRT| WA Vsl § YA AR -2 & @l
&I aAIfed el 81 At Wb @i & Sfae fam S g1
T T H T T F Y hiee HHar S 2

128.

Which of the following is not the objective of
Trial balance—

f o @ =9 @, daue (e frem) @
R T §?
(a) Check the arithmetical accuracy of the
accounting entries/TaT JAFET 1 BT
TR H ST HLAT|
(b) Basis for financial statement/fa<ia faawor Ed
ISLCICICEIE ]|
(¢) Summarize ledger/ @ a2 s Wi BT
(d) Assess the profitability of business/SAIN *
AT bl HTeheld hIAT
MP PEB 08 Jan. 2017 2.00 pm
Ans. (d) : IS &7 3LIF TEAWL HI a1, o=
foawor & fIU SMYR =M & WA # SFHIOT YA
F1 S HT 21 AR F AT P SAhe BT Sfqq @
F ILTF FAT & qAUC H A&l AR i @WK H
soig % HeAT ¥ TAR fRar S 8|

129.

In the trial balance if the wages are added with
salaries and is shown as 'salaries and wages',
then it is recorded in...........

uﬁmw(méﬁv)ﬁ Ifg ASTglt &l

e % AT S few W ot S A i

R RN T R B G 1621 B L | B OO o

sferfEa gt g

(a) Trading account/=ITIR Itel]

(b) Profit and Loss account/<l¥ 3R g e

(c) Balance Sheet/qc I

(d) Proprietor account/ATCIHAT T

MP PEB 08 Jan. 2017 2.00 pm

Ans. (b) : T Hqem #, AR wed F a9 & @A
Srg fear MU 3 39 9 o Aogd F ®9 § fewmn
ST @ I Are-e '@ efefad @ SRt siR
Tl dqed § Pad Aeigd fa@r Smom a3 =mR
T § sifeifad fear STom & 999 #F a-ai @ §
el feram s

130.

Interest on loan paid by the business to a
financial institution is an example for—

T foeiie H@ea™ sl SUR 5N e /0 W
=1 1 S T IR -

(a) Expense/=ad
(c) Asset/aREfT

(b) Income/3™
(d) Liability/37aR
MP PEB 12 Jan. 2017 9.00 am

Ans. (a) : UET RUT SW— F-Feff SO =R 7]
T (F91) T & 3N 39 70T W FAfY=d  § =l @@

T Tgdl @ 3N AN AR % fow =g ) sifem
T H 39 a7 § Heiftd FOT W AN PN OWMEA F AT
Bl
FUT W A B (1) A2 G & fae uer §
(2) s fag ® aifo wmr & =07
¥ gt femmn s @

131. Which of the following is not the limitation of

accounting?

o= & & R erEieR ot o T &2

(a) Based on accounting conventions

A TS T SR

(b) Evidence in legal matters/fafers fowat & e
(c) Incomplete information/aT‘IU'f FEF!TQV

(d) Omission of qualitative information

TUTcH FAT bl é|c_'i G|
HPSSC Junior Accountant 2018

Ans. (b) : fafres faw=n & @ i &t g & S
& e 81 oRgieh o dimm frEfefad 2

o T RIS T e

oaTlIU'f "{EHTQ

o TS T &l e e

Stores purchase Rules

(¥R Tlig yure)

If goods worth Rs. 1,750 returned to a supplier
is wrongly entered in sales return book as Rs.
1,570, then
faehat &Y 1,750 %. G T WIeT aTat, fosmar
ot Tt § Teret | €.1570 T W}, 949-
(a) Net Profit will decrease by Rs. 3,140
Y& A9 3,140 & § HH F W
(b) Gross Profit will increase by Rs. 3,320
el A9 3,320 & T I ST
(c) Gross Profit will decrease by Rs. 3,500
THA @ 3,500 & ¥ HH g ST
(d) Gross Profit will decrease by Rs. 3,320
The 1N 3,320 & F FH & ST
PUNJAB ASSISTANT ACCOUNTANT 3

Ans. (b) : AT 1750 %. & T a9Hl I ToAd 9§ fapa
gt # 1570 o feon T & @ 3HY Tha o 3320
T, 9¢ ST i fasha aroddt 9w fasea & Tfyn
1570 ®. &9 far, s f% o & 1570 & 9 F9 fHar
I U S @ A9 1570 & Fem| 791 fR Az 1750
T, T a9 ST foshd § ® e o an, fed ot oy
Tedr, afz fog fear S @ @w 1750 & 9 QW 3M:
FA THA A9 3320 T T TS

132.
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Accounting

GiehT

Trading, Profit and Loss Account

and Balance Sheet (RUR, °H
3 i @ar SR S vfte)

1. Which of the following items will NOT appear
in the debit side of the Trading Account?
frefofas § ¥ FA- aEg SfET @R %
3o ver § 7 farg it
(a) Purchases/@{g
(b) Gross Loss/9ftqe i
(c) Opening Stock/geal B
(d) Gross profit/gehel v

UPRVUNL Assistant Accountant 15.05.2022

Ans. (b) : €T @ & =foe v § @R 9= @l @

foret -

1. TfT, 2. Ifve w3, 79igd, 4. 719 4R, 5.

fhmm, 6. 9w, foeicll, 1@ ==, 7. GFA AW &R

Hfee v § foppa, sifim whr st @sa afv, onfx

fearen S 21

2. Which of the following items will appear in the
Trading Account?

UR T § e § § S o ug fwr

et &2

(a) Power & fuel/3Th 3 germ

(b) Salaries to office staff/@maierd & HHAME Bl
A

(c) Repairs to machinery/Aei={t & FLHA
(d) Depreciation on office car/FEAAdT IR W
AR
UPRVUNL Assistant Accountant 15.05.2022
Ans. (a) : MR @A § a%] & 007 797 39k a5 9
g Toft Tt i fewmEr 9 @1 e R, 9o, 7,
$ 98 qoft =g g o famion § gwfe @ 3% =R
T & e ver § fewmn S 2
3. Which of the following items will appear in the
debit side of the Profit and Loss Account?
frafafaa § & & @ 7g e iR T T
& Sfoe uer o feang wmaeft?
(a) Wages/tl?r{ff
(b) Selling & Distribution expenses/feisht R
foaor @
(c) Royalty on Production/3tar&d WX ferawor i}
(d) Purchases/&{g
UPRVUNL Assistant Accountant 15.05.2022

Assistant Accountant Planner

Ans. (b) : ToEd, 3R %T B UK TH F e T |
fearer ster @ dur foshl oo faeor @ # erv-er @
% e uer # fammn s 21
IR WAl - AR § el o1 a1 Gobed g & 1T
FH & U AOR @ @ S| 2 A8 UH AR
T g1 9 e A Tl @ faswa aur fmi § gu
ST Gl Sl Qe fhar S |
TH-FI WIAT- SR ¥ g G /e & o
F & Y 59 foawor i &= o 8| 56 Sfae e
Tohel g (AR @rar §) q9r 9off 31cet e qdn shiee
U7 § Tl A (AR WA F) T goft 3Tt Mt b
feraman ST 21
4. Which of the following items will NOT appear
in the debit side of the Profit and Loss account?
frfafad § & e S awg o iR a1y @ra
o Sfere ver o 7 fomrd et 82
(a) Audit fees/T@T-a8IoT T
(b) Office rent/&ATerd T fehTrm
(¢) Financial expenses/faxita Td
(d) Carriage Inwards/T&! 3Teh
UPRVUNL Assistant Accountant 15.05.2022
Ans. (d) : TSl 36 (carriage Inward ) F IR T
% efoe ger & faman <ar 31 M 9ret 9% W @ S A
% UReEd % dNF B 81 T A A Tle ¥ gaErE
Tl @ g @ SR THfTT g9 Iwan &t e W &
N H e feen S 81
5. What is the amount of gross profit/loss when
opening stock is ¥18,000, Purchase ¥78,000;
Cost of Goods Sold 1,06,000 and Sales
1,49,000?
Hehet ST /ET(T st R o= g, afe wnfies
i T18,000; T T78,000; Sreft T axgait =l
T ¥1,06,000; 2T fasmar T1,49,000; 27
(a) T44,000 Profit/e™  (b) T42,000 Profit/ars
(c) 43,000 Profit/amq  (d) 43,000 Loss/3T
HPSSC Accountant 20.10.2019
Net Sale — COGS
1,49,000 -1,06,000
= 43000 g1

Ans. (¢) : §hel Y =

38

6. A hospital wants to allocate nursing
department costs to in-patients. The most
appropriate basis of allocation is:/Tch 3T&IdTT

AR ST AT 9T AR AT H/EAT
TTEAT B JTEE T HaH IUGh LN -
(a) Surgery hours / Hidl & &2
(b) Number of days in the hospital as a patient
Tl o &9 A | fiA & g
YCT



(c) Cost of medicine / ZaT &I HiAd
(d) Direct cost / T ANTd
UPPCL Lekha Lipik 27.09.2021 (Shift-T)
Ans. (b) : T /a1 AT fFam & o
efed & F foIT evmarer # 31 At wfafe I i
YR AR AN H1 3MEfed HUM| 98 VAl 9 $,
4 % AW ¥ AN Sl A HT Febell B |
7. Gross profit is

using......... formula.
Hehe? T AT UREHE,..... TN G TeRam Srar g1
(a) sales-cost of goods sold
fospar-arit 1€ gmiEl & ara
(b) sales-all expenses/faha-a+t ==
(c) assets-liabilities/Sufx- IeIREl
(d) sales-liabilities/fasha-gairat
MP PEB 09 Jan. 2017 (9.00 am)
Ans. (a) : Thel @9 98 o1 g S Uh HGHd 0
Sl @ Yarsit & Fwior ofk facht & dafem oot ot &t
TR F &1 Gebol A B IR i F fog feh F F
S T AERrE S ST ST & T el oY ST Biel 2
8. We can say business is in profit when-
T e Thd & T I | A0 Ee
(a) Assets exced liabilities
uReufy, SFaRal ¥ sifees &t
(b) Income exceeds expense
3, A 9 3 Bl
(c) Income exceeds liabilities
@, IARA § 31 &
(d) Assets exceed expenditure
uReufy, =@ § 31 &
MP PEB Group-II, 11 Jan. 2017 (2.00 pm)
Ans. (b) : 59 {58 =Fedg & wH Ay sw@fy § o1,
=g § s & @ o 5 Rl adt ] oy u s
A TS S A FI A B 2
9. If net profit is 20,000 and gross profit is 35,000
and there are no incomes other than sales

turnover how much shall be the indirect
expenses shown in the profit and loss account?

Tfe g T 20,000 & AR FHeT AT 35,000 T
3T forsht oA & STETaT wiE o WEH € A
@ AR T w ¥ e T s e
femer 7
(a) Rs. 20,000 /%. 20,000
(b) Rs. 15,000/ %. 15,000
(¢) Rs. 25,000 /%. 25,000
(d) Rs. 4,000/ %. 4000

UPPCL Lekha Lipik 27.09.2021 (Shift-)

calculated by

‘%, S

Ans. (b) :
Net Profit = Gross profit — Expenses & Taxes
Given Net Profit = 20,000

Gross Profit = 35,000

Find Indirect Expenses
Indirect Expenses = Gross Profit — Net Profit
= 35,000 — 20,000
Indirect Expenses = 15,000
The Value of Indirect Expenses Rs. 15,000 is for shown
in P&L Alc.

10. What is the definition of Profit and Loss
account?/eTTH 3 g @Ta ST TRTET == 872
(a) The account, through which gross profit or
loss of a business is ascertained, is called
profit and loss account./@d &% weem I
Th FIEET 6 Gehel oH AT I T Tl AT
ST &, B o 3R g W et S 2

The account, through which annual net profit
or loss of a business is ascertained, is called

profit and loss account./@wd, @& wem §
afie & oW o 5 sewe & e & T
M S 8, e 3 @i @ el S 8

The account, through which quarterly net
profit or loss of a business is ascertained, is

called profit and loss account./@IdT, fSraes
mea ¥ Uiy g8 oW a1 R weme &
I T UA AT ST €, i A 3R
QT 8T ST 2 |

The account, through which net profit or loss
of a business of a half year is ascertained, is

called profit and loss account./’S | o &
e § frdt ey A % fRdt sEwE @ vE
T A B YA A ST §, W AT R
RIERCIICTIRS I
UPPCL Assistant Account 09.02.2018
Ans. (b) : BN @A T8 YeRfd & 2 5 faed
RS A § YE A R YF A B gE, g
wmms&wﬁﬁmﬁﬁ;ﬁwﬁmm% L
o e €1 gu% faada Rafy #i g Fed &1 gue =2
-gif @ § e o o Hfee & & S 71 o
e ¢ f ol T wedt fased § 9 foehed (b) WY 2
11.  What are the benefits of preparation of Profit
and Loss Account?/ds 3R g1f @aT @&
HIA & AT AT §?
(a) Without profit and loss account, income of
partners cannot be ascertained/cr IR =y
T & o, aefedd &t e @ off war
ST ST Hebell B |

(b) To know tha actual profit of a firm, it is
compulsory to prepare profit and loss

account./ 8l &5 &1 arEfas @M AT & g,
AW 3N B T dIR S T e 7

(c) It is very necessary to prepare Profit and Loss
Account to pay exact income tax to the

income tax authorities./3T¥eh ARHIRAT
T AT W AT H T A I g @
TR A % fou agq sl 2|
(d) All of these/T+ft farshed
UPPCL Assistant Account 09.02.2018

(b)

(©)

(d)
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Ans. (d) : ST-T GTET I T SGS9T—

(1) 98 @ a9 & A B O[YE AT A
I 1 TaT =or 2
R # B9 a1t 3 =l 1 I & 21 =
ey 21 1 g & fafea fbam St 21
TS WAl ¥ FEA ¥ FH AT T S e §
T gfg ¥ foar fear S @ 21
Y& /A & qAN T A b AT F H S
Tt 21
9B @I & MR W e e e &)
I[E AN H SMYR W & FAARA B T&C,
Feral, S fE 2 % ffg forn s 8|
TH MERX W AR & Gy & 9l Femmn
T ST FWehdl &1
: fasheq (d) 99t faseq @@l €

Which of the following is not a content of Profit

and Loss Account?/f=t & & i &1 o1e 311

FIfr e it wret T §?

(a) Gross profit or gross loss brought forward
from the trading account./¥shcl ¥ AT Fehel
THaE 2T @ # § o @rr

(b) Income related to purchase
TiT ¥ gefe o

(c) All indirect expenditure/S+t 39e =5

(d) All indirect incomes/q¥ 37T 3F

UPPCL Assistant Account 09.02.2018
Ans. (b) : W-B @l a8 Yefdld & & f fed
RS aY § @ A9 A I[E B b g3
el I 3 SRS I & Ve S AT B B,
ﬁ@W(NetProﬁt)Eﬁgﬁ%, afg Rafy fogda & @
I[& T ed &
SR @ § T =l S o fAfda stger o fafda
ST H g B &, 3% O A I % I 3w =
FA 8, Fad I8 AT 98D © 16 T TS T A §
fepaT o9 S1eram w1 g2 21 39 F % Y SR @
TR fpar ST 21 e 2fe ww § farek g Wt w6t
AT 3R hfee v § g Tk & iy qur e
TEferan fa@man ST 81 39 W g Wehed oI 37eraT

2)
€)
(4)

)
(6)

(7

12.

13. Which of the following is not the feature of
Profit and Loss Account?/fr= ¥ & =i @1
T SR i e Wt gioen T 87

(a) This account is prepared on the first day of an
account year in order to determine the net
result of the business/AIR &1 Y TRUMH
freifa & & foaT 78 @m @ T & s
fert R fepan o @

(b) Only indirect expenses and indirect revenues
are shown in this account/sad 39 3URT
4 3R e ToRd 39 Wi § @ e R |

(c) It starts with the closing balance of the traing
account i.e. gross profit or gross loss/T@ ?@"T
FHEE F T I F YE I 8 i THA
A AT HHA TR

(d) It is second stage of the final accounts./J8
3ifow @l B gy W 7

UPPCL Assistant Account 09.02.2018

Ans. (a) : g @aT 98 Yefdid &wr g f6 fed

ARG Ay # YE A9 1 81 bt g3, Fhel v

P I RS Al B G S IR e 2, I

Y& @ (Net Profit) ®ed €, afx fafy fauda & & @

3 ¥E A Fad ¢

B T AY-E @i # 2fe o o shge
T & S R

B Av-E @n F Sfae g9 A 3 = A 8 e
T W F G A 8, 3 ol i
=g Fed &

B FOR G Ud A9-g @4 § Had a1 & 3R
2 % =R @ § Aol % %9 UH Seaed wE
Tt g W S €, o aw-ai mW ¥ A
% fopa wal| g9 a1 TeqE @ yge faam
¥ AT =oTUR @TET TR AR W A
ST 2|

m 3ifow @ @ e = g

(i) ¥ =T — AR @Al
(i) e =or - Arw-g @
(iii) FHF =T — MF feear

14.  Which of the following is a part of sequence of
— ZT? errqu Wf %;ﬁaﬁ f o w5 e Expenses in Profit and loss Account?/fe=t )
¥ e & €9 § TR FW &1 39 G Ard-gi @ aﬁ:r—ewagaﬁ'{mﬁr@ﬁﬁma;aﬂﬁqw
$ ;Tﬁﬂ—@?aﬁﬁ@g;ﬁqzm;;mﬁ 'T@T S R — 1%:); Financggi and other expenses
N i forfiar o o1 @
il W@E : o i i,rf;[}‘{?;;léﬁaq e S i d . (b) Selling and distribution expenses
TR S - AT 3T faor @
Wﬁ?ﬁ%ﬁ;‘%@ & % 37;7”}% i;q & g;q-—%j q"ﬂmﬁaq ¢ (c) Office ar:;c%I administrative expenses
Il ' A-gIa e & fasha gt FET AR IS TE
T & qg@aﬁ gl E%‘E%E feam & foau am-gifa @ (d) All of these/9Ht fasheq
% @vs F ol T E| UPPCL Assistant Account 09.02.2018
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Ans. (d) : 9B @ a8 Feffd & & B e
mﬁ%mﬁg@wﬁi A A g8, A
A F ST ARE i St Hfers 2 8, 3

A9 Tia # Sfee o o e o & St 81 o
e g 5 & ™ it fasew =9 sy o e 2

15.  As per the books of X Limited Capital at the
end of a year is ¥ 21,500. Drawings are ¥ 4,300
and Capital in the beginning of the year is ¥
19,400. What is the amount of profit or loss
during the year? (in %)

T fAfies st J&aehi o AN Teh a9 o 3id
T Ueft 21,500 U ¥, ST 4,300 TN ¥ 3R
FeeTe § Yeit 19,400 BT 1 AW o S T
o1 gt i R e §?
(a) 2,200 (Profit)/ 2,200 (<)
(b) 2,200 (Loss)/ 2,200 (BTF)
(c) 6,400 (Loss)/ 6,400 (1)
(d) 6,400 (Profit)/ 6,400 (<)

UPPCL Assistant Account 29.01.2019

(b) Receipts and payments account only records

receipts and payments of revenue nature./STtd
TAF Bd § 737 T55 Hfa A i

SR A @ SAfRar e ST 3

(c) Receipts and payments account is summary
of all capital receipts and payments./STtd
I W, W gef st S o
e A 2|

(d) Total income and expenditure account is
shown in  Receipts and  payments

account./Sf& 3R q Fd T R
=19 @1 @ik f3har S 21
UPPCL Asst. Accountant 25.02.2022 (9.00 am)

Ans. (a) : T T 9 7e7 ¥ 9 TH SEMH 9 2
T T SIS HeaT & ford BT @ aer g
fomfor enfifer oo, RFeR Seva oW 9 9Ra & @i
21 TH A WWWW?HWWH%
memélﬁiwmwwww
i, el wffqdl, S, &, g i s
q@%mmw%m Rt ST ¥ o T

Ans. (d) : Calculation of Profit/loss during the year-
Capital at the end of year 21500
Add: Drawings at the end of year 4300
25800
Less: Capital at the opening of year 19400
Profit of year | 6400
16. Which of the following statements is
INCORRECT?
T ° @ -1 ®YA 3w 77

(a) Opening inventory is written on the debit side
of the Trading Account./JXff9e ¥ ATIR

@t % Sfae wy forar st 2|

(b) Direct expenses are written on the debit side
of the Trading Account./SI& =TT YR £C| 1)
% e vt ¥ ford W €

(¢) Turnover is written on the credit side of the
Trading Account./$d farshl/ 3mmad (Turn over)
SR @ % shise ger & foran s &

(d) Freight inwards are written on the credit side
of the Trading Account/3ITd TS ST SR
@l % hfee get § forar s 2|

UPPCL Assistant Account 13.09.2021

T AR & Qs o & IR 7 S 2

18. 3ifaw @il & deer o, frafafaa ® 9 &= @

HAT T &7

(@ a8 | F gEE F U T 9 aen @off
QIR i ST ITaIRE % & H affepe
foman S 21

(b) 3T farawor fpedt faiy srafyy & fow = @ 3%
1 AT Y I W g

(c) B T TH =4 ¢ S 9 H & fau FE @mw
& @ 2

(d) 0 §F § = fbam T d99 =T W @
i a8 F 1 TR I HH HT & AL T &
e & e 2|

UPPCL Asst. Accountant 24.02.2022 (9.00 am)

Ans. (a) : 30 Tl & Hefw A foweg A AN WA

o 3T WM TH FAE a8 F T aAE W@ § S 12
TE F A & SEfs d¥Eew e 12 WA 9 S

B 21 TEiIT fohed A T 2

Ans. (d) ;31 AT = &1 s @[ & sfoe 9 H| 19, with respect to final accounts, which of the
IZEIRIESIG] é Igl G HIsT Ueh A& oI % 39 N following s}atements i§ INCORREC’!‘?
THH! SRS @Id & Sfee ger # fewman sm 21 3ifem @t & dewr |, freaferfiaa § & i @t
17. With reference to the final accounts of a non- HAT AT 82
profit organisation which of the following (a) If the debit side of the trading account
conclusions is COFI‘?Ct- . . . exceeds its credit side, then 'the balance is
Teh IR-e9aRit Wied & 3ifaw @t & dasf termed as gross profit. /af% 2fET @i #1 Sfee
T freafeafaa & & @ |1 e w@@ 872 TeT 3Td IS U U 3Rk & S @, o 9
(a) The membership amount collected for ufT & w9 FeT S 2
Bhagwati jagran is considered as the 1ncome (b) An asset gives rise to expenditure when it is
of the social club./Tadl SIFROT W acquired and to an e gense when it is
THd Fewar URT o qHIfSh e i 3T consumed. /T URYURT & SMEEET W =
AT ST & 3R YA B W =g HI S T 2|
Assistant Accountant Planner 41 YCT



(c) Sales less cost of goods sold = gross profit
fospar-a T 9 & AT = b AT
(d) If the balance of an account is on the debit

side of the trial balance where the benefit has
already expired, then it is treated as an

expense. /A% fpdt @@ & ww TR T
g F 3o g § & ST A wd & g
2 gH 2, A W AT F T F AT €T 2
UPPCL Asst. Accountant 24.02.2022 (9.00 am)
Ans. (a) : &3 T el § Fo A a9 @0 F T |
TAd 81 A AR @ H HES G Tk ShT g I
ffereh @ ST @ A1 9 ART H Geher AT HeT S @ A
fh Sfoe w1 e w1 ¥ ift & W W
20.

With respect to final accounts, which of_ the
following statements is correct?/3iferm @ rat &

weier ¥, frfelaa § @ & | s @ 2
(a) The adjustment entry in respect of the income

received in advance is debit income received
in advance account and in credit income

account. /3T H MW 31 & Ty § GHMEISH
sy o e 3k *fee oM @d # Wa
e @14 B

The provision for bad debts is debited to
sundry debtors account. /3TSMET FON B

sy fafy SHerl & @ # i e S R

The debts written off as bad, if recovered
subsequently, are credited to debtor’s

account. /S9d % &Y H 37ferfad fw MT For,
afz a1 & FgE T o, A AR b En §
ST T S 2
The provision for discount on creditors is not
provided in keeping with the principle of
conservatism. /&fearedr & g & &9 §
Wl g WEll W B H TEYH FEH FE
fepam T 71

UPPCL Asst. Accountant 24.02.2022 (9.00 am)
Ans. (d) : 39 @ § wfeafsa & g & o= §
@ gL AR W B2 B TEEE T R A T 2
3 fod T fawed § @ fawes D sifaw @ & e
¥ 7 21
21.

(b)

(c)

(d)

With respect to non-manufacturing business
entities, the term ‘Final accounts’ includes:

R-fafmior s dwenstt & d@eu o,
 siferm @’ vTeg W M §:
(i) Trading account/<ATq WTAT
(i) Profit and loss account/ITH A gif @
(iii) Balance sheet/31Tf® BED ﬁilgT
(a) (1) and (iii) /(i) 3R (iii)
(b) (1), (i) and (ii1) /(1), (i1) 3R (iii)
(c¢) (1) and (ii) /(i) 3 (i1)
(d) Only (i) / Fa (i)
UPPCL Asst. Accountant 24.02.2022 (9.00 am)

Ans. (b) : W-fafmio sqaaifs dwensi & d@dy #,
‘3ifom @ar § AR @, o9 ) g @ 3 et
forgT wmfereT 21

3ifem @l @i @ 3ifaT gfhar 21 e Mk sy §
FHE & 3ifom gRomm fem & forw sifem @ dar fear
ST 81 3w @ W e fgeRer % w9 § o S S
21 siftm @ § =R @, oW R sl @ sk
anfeler g1 TOR T Wi 81 SHUR @i R @ 3R
B @1 |l & SN SIfel st T8 ewSedT i agiier 2|
anffer fogr ogied afyr & 39d § =g & forilg
fRfer sl gwiiar 81

22.

Which of the following expenses is NOT
considered in calculating the gross profit of a
manufacturing concern?

e fafmior wfes™ & e @19 st T o
frfafaa § 9 form =g w foem adf feen
T §?
(a) Royalties on production/3cda" R Fac!
(b) Freight inward/ATd e
(c) Carriage outward/STideh HTST
(d) Fuel and power consumed/§& 3 farstell &t
Qud
UPPCL Asst. Accountant 22.02.2022 (9.00 am)
Ans. (¢) :
fomiolt e & weohet @9 &t T & fow o ol @
9 | o 9IfRT :-
(1) 3T I &7 (Royalties on production)
(2) 3Es fael (Fright inward)
(3) 399 TH Fsll H YT (Consumption of fuel and
power)
3: Saeh WIeT 1 W Wi 7@ fohar smem, F=ifs a7
TS I 2 ¢ 3R I8 o g @ S

Which of the following statements are correct?

frafefaa § € &9 | &9 96 £7

(i) Profit or loss is disclosed in the Income
Statement prepared at the close of the

financial year./fo<fiar ad =t wumlta W
TR 3 feravor § S AT T T G
Tferam wTaT &)

Income statement is sub-divided into two

parts for a non-manufacturing concern i.e.
Trading account and Profit and loss

account./Ts TR-fafemtor e & fog smer
foewor =t & wri # Su-faamia fean
ST ergiq SR @rar iR e 3iR
FURECIGH]

Position statement discloses the assets and
liabilities position as on a particular date./

Tearfer fawwr = favw fafyr & g d@ufw
3iR IR st fearfer T gemTaT e B

23.

(i)

(iii)
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(a) Only (i) and (ii) /3@ (i) 3R (ii)

(b) Only (ii) and (iii) /&3 (ii) 3 (iii)

(©) (i), (i) and (iii)/ (i), (ii) 39 (i)

(d) Only (i) and (iii) /3 (i) 3 (iii)

UPPCL Asst. Accountant 24.02.2022 (2.30 pm)
Ans. (c) : {5l o ad & goiftd st dar e faaeor
T oY 3R B S §a R S 21 U I fafmfor gen
% foru e T &1 & 9w # fasfom o S R
SR Gl 3N A9 SR g @ 81 U e A w
anfifes fargr dR fohar ST @ ST EE S gefedt o
el & g Refa & wefid s 21
aa: 23 T geft Fo g B
24.

The main purpose of is to give a
uniform charge to profit and loss account in
respect of machinery.

a1 T Thvd W % e §
I 3R T @A § Tk T ook 1 8
(a) provision for bad and doubtful debts/3TNET
3R gy F7olt & foIw sraem
(b) provision for reserve /Hfed & o raem
(¢) provision for repairs and renewals /HTHT 3R
T & AraH
(d) provision for taxation/SUET ST TTE
UPPCL Asst. Accountant 24.02.2022 (2.30 pm)
Ans. (¢) : U6 EEIIH IUHA R ST 8§ ol S
et 39a gEfeal # o0Ed o TE@E % 3RyF I
frafi = & & sTavaswd a8 Ff-wd Te-ge
F IR FB QO H GGEH USA | IRAWE T
T § 9 WE@E & e savas i e @ dfed
e % SuArh fed % o § g% Wgd 9§
IS IUHT H AT W T H e awdaes T B
o 3N B @ F WS S B qAT B e B 2
39 YER A SR T % WEEH & qe 38y
T % Hey # A SR @ @ ¥ U 9 e o 2
25.

Which of the following assets is a fictitious asset

e & | R weutTew qet 8-

(a) Good will a/c/&ATfd @rr

(b) Prepaid Rent A/cf‘lataﬂ foruran @rar

(¢) Outstanding Salary A/c/37ed a4 @l

(d) Preliminary expenses a/c/SRf¥eh I @Al
PUNJAB ASSISTANT ACCOUNTANT 3

Ans. (d) : s gy 98 @ O omy Ty ger

et SR € g 39 SRR 1 S W S @ o i

@ T 2R 21 57 it 1 9T g9 (Realisable value)

I B 21 3 Rl RS =9, sRef e =,

39, B % Frfe W oge ol ¥ we g =

T ST TGl o TWE % 8 § of: g% gr §

fomamd €, 99 & S e qed 3 | © 1 e e wwf

R, Ted &7 el G € q9T 37 S e A 8

26. Trade expenses are shown in

EIGIES
(a) Debit side of Trading A/c/ZIRE T &

(b) Credit side of Trading A/c/&TIRE W &
Hfee o

(c) Debit side of Profit & Loss A/c/aT¥ &I £SI)
F Sfe ¥
(d) Credit side of Profit & Loss A/c/ar &4 £E| I
F hfee |
PUNJAB ASSISTANT ACCOUNTANT 2
Ans. (¢) : IR TAT T 3G & Gohel ¥ a9l Tehed
BT i awiiel § 30 a9 & G Soel T ST uer
3 qo GO ST 3 ATl WS e uer § fordt I &)
B T U e F YS A A S @ B i 8,
T ST & AN Y TY SRE W i forg S 8, 9
AT T A e S 9 H ferd S 2
217.

Adjustment entry of interest on the capital
invested by the owner affects:

et g frafyra oSt w s o T
yfers gure greret
(a) Trading and Profit & Loss A/c/aATaReE w14
RIEREIG]
(b) Trading and Balnce Sheet/ZTdRe QAT 4
Reefa feraor
(c) Profit & Loss A/c and Balance Sheet/aTq g1+
g wd fRyfd faawor
(d) Trading A/c, Profit & Loss A/c and Balance
Sheet/MUR% @A T o9 B QAT W&
Reafa feawor
PUNJAB ASSISTANT ACCOUNTANT 2
Ans. (¢) : @Ml FRT MR TGSt W AN H TH AR
oy g @ # e fhar S et 58 fafy faewor &
wrft & 3ot § SieaR famaren S 21 9% @R & fa
T BT 2| A8 YU IS STTUNOT % ded el 2 |

28.

If the net profit before charging manager's
commission (5% on net profit after charging
his commission) is Rs 378000; payable as
commission will be
g Feiersh o HHIH ol =TS o § U I35
T 378000 T & (HHIH I TNH W 5%
TSR T HHIE S & Q) o HHPE &
T s gt
(a) 10000 (b) 18900
(c) 18000 (d) 20000

PUNJAB ASSISTANT ACCOUNTANT 1
Ans. (¢) : Net profit before charging Manager
commission = 378000
Manager commission = 5% after charging manager
commission
So Amount payable to Manager commission:-

378000><i =18000%
105
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29.  Payment by debtors will

RN T AT

(a) Increase total assets/seT Ty # sl

(b) Reduce total assets/Fel Hufdl § HHT

(c) Increase total liability/ge e § Ferat

(d) Will not affect total assets or total liability

rafat & e W B T9E T
PUNJAB ASSISTANT ACCOUNTANT 1

Ans. (d) : TR & A A FRfA OS | FE oF
e FE S Wi & ¥ Rl off e wefE qen
@ F P oI W HE g9E | T ST AR
TR fau =] Ty @ €)1 AR IR e R d
IR FA B A W T gW A W TR off S
T TRT B §, 3T AR F b S G o TF A7
TRy 8, A 9% SO e @ S d W] g %
TN R e qRadA T E 81 e o stwefan @

Gross profit is
HeheT 1Y §:-
(a) Net profit less expenses of the period
Y@ AW - 3 % T
(b) Excess of sales over cost of goods sold
S T WIS AR G A st
(c) Excess of sales over Purchases
ER R R ]
(d) Net profit plus income of the period
& A9 + A B
PUNJAB ASSISTANT ACCOUNTANT 1
Ans. (b) : Ghel oY Jo9eT el § qd I o1 BT 21 T8
IS A H T T A S B A O FA awg
1 SIS B AN HI T I fHaT ST Gebell 2
Gross profit = sales - COGS
Gross profit = sales - (purchase + direct expenses)
or
Gross profit = Net profit + other Expenses — other income
31. The debenture interest paid is recorded in
which part of the final accounts of a limited
company?/$TaT feRIT T=AT HUT T T AT
T feafies sut & sifew @t & e feg o
Tt feRam e §-
(a) Trading account /TR GIdl
(b) Profit and loss appropriation account
SR g A
(c) Profit and loss account/clT¥q 3R gIf @
(d) Balance sheet / anfde fagn
UPPCL Lekha Lipik 27.09.2021 (Shift-I)
Ans. (¢) : T FUTTT Hu-1 & R &F T A & (U
ST far ST @1 FUH EUTT W HS URG B Th
fafem % W = a4 & U STer B 81 For W
ST O % T SRR BT 81 U 1 A & A A
2 R oft For R st 31 s g @1 st e
T R SIS HT A A F BT @ A1 @i s e §
99 T B 8| SHT T W A F A FIA-
gif @ & fegran s 2

32.  Which of the following is NOT characteristic of

financial accounting?

e 7 @ o faxdta e &t e T 2

(a) The information is confidential and is
intended for wuse only by company

management. / YIATE TG 2 3 saa
HUH TR T AT & U e 7

The information is used in a wide variety of
business decisions. / aAT H ITANT fafer=
YR o A fufd & fhar s @
Information used in financial statements is
prepared in conformity with generally
accepted accounting principles. / ferfta oo
# IqET # S Tl gEAr AHAR W i
i il % ey Tar & S 21

The information is developed primarily by
"private accountants" that is, accountants

employed by business organizations. / Il
g ®F ¥ @EW () @R 5[

foepft & St @ S eEwifae dwedl g}

foreifom eamhR 21

UPPCL Lekha Lipik 27.09.2021 (Shift-II)
Ans. (a) : oriia oais a8 fhar @ Rred forfta foawo
TR B F T §e9 W aAIC MU @ R §
A -2 B & fha1 Sl 21 gEe faean
feferfiad @8-
1. foda Rafy & aR & SHed FaH ST
2. forfmr faeoli & 3wam & 9= @t gEAeh @

AR R Wipd @i a5 F 3FET TR B

3. EAT MU €9 T JGER SR e # Sl 2
33.

(b)

(c)

(d)

Closing stock shown in Trial Balance is

disclosed in final accounts in :

I8 ok A= T Flaan T aeue o feara T
¥ rf~aw @Td 9T wu fe@man Srar §—
(a) Credit side of Trading Account and Assets
side of Balance sheet/T9R @Id &% hiee T&T
wd faed & gl ey A
(b) Only on Dr. side of Trading account
IR @ % o Sfe ge1 &
(¢) Only on Cr. side of Trading account
SR WA & Hadl hise T&T §
(d) Only on Assets side of Balance sheet
ot P e v
RPSC Junior Accontant 2011
Ans. (d) : 3% tfm @R doge & feaar @,
T Ao & % oy & oiq § wfoan & ufvr o g
T Tlg &0 & & T T ITH AW ae g &
Ted e # orfaw wfwar fammar s ik 38 =mR
T H ST (Credit) 721 fa ST =fgw )
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34. Bonus given to employees is recorded in :

& YA R T SEE iR
feram StraT & -
(a) Trading account / TR @I
(b) Profit & Loss a/c / AT9-g1 @
(c) Profit & Loss appropriation
A-gf e @

(d) None of the above / 3T H § &g Tl

UK SSC Assistant Accountant 13.05.2018

UK SSC Assistant Accountant 17.01.2016

Ans. (b) : — FHARE I TAE fFF T qT F -
B @ # sifed s 81
3s.

In final accounts abnogm.al loss of stock is
entered in : /AT WAl W Wik i TETLIT

arfer foreeft wreft © -

(a) Trading account only/%?f R T #

(b) Profit and Loss account only/év_clﬁ IR

@
(c) Both (a) and (b)/?ﬁﬁ (a) R (b)
(d) Balance sheet/fag &
UK SSC Assistant Accountant 29.11.2020

Ans.(c) 39 @@ § Wik & FAWEN afd H =AU
2611 e 11 G L R s R A 7
sraTyRer affy # Rt W @ T g af, @ T H
T B e S §1 39 I H HF W e fha
S SR Geifer @i @ efae R S @1 g SrerEn
5o ¢ affagfd s e § wre i @ A 59 el w5t
- & shiee oer # forad &1
36.

The expenses on the debit side of trading
account is called :

STk GTAT & A9 U8l & &l hl Shad § :

(a) Establishment expenses / ¥J9AT I

(b) Purchasing expenses / 3 Haiel =g

(c) Manufacturing expenses / 3UIGH T

(d) Selling expenses / faspa =121

UK SSC Assistant Accountant 29.11.2020

Ans.(b) SRS TET & A9 W & =4 B T A
FeT ¢ U o d I & S A %k A SR A b
fasst % fou GoR @ % U 59 W @ s aa &
TR faar, o %A a9 HF ¥ Hefm = &
et e T 21
37.

Capital expenditure will be reflected in
Ui =, o uRertara gem
(a) Trading account/=MAR EEIn|
(b) Profit and loss account/eT¥ Td g4 ECIn|
(c) Profit and loss appropriation account
o ud g i w
(d) Balance sheet/detq e (T T9)
MP PEB Asstt. Audior, AO 07 Jan. 2017 9.00 am

Ans. (d) : G5 =7 <19 gfty GO, ARA, STRCT S
iferer T o1 AMUTE0T, I R TEEE H & [
fepam ST @1 goiTd = b IuANT SRR Rt st g
FE RERET a1 Far s & forg fohar s 81

38.

When you prepare final accounts, where will
you transfer bad debts recovered account?

T 3T 3 g & 99N N 3, d99 31T

T9: YT EU oS S=H (TN /U oG i

HEl TR il

(a) Profit and loss account/cTH-g1 £C| 1)

(b) Provision for bad debt

gme F#om & fow saue §
(c) Debtors account/3eR o@ §
(d) Account receivable/ST wr |
MP PEB Asstt. Audior, AO 08 Jan. 2017 9.00 am

Ans. (a) : 3TN U TH FHR B 86T &1 S 16 WA
IR 994 T §HY T 991 7 9 & W qE o S 2
Af% 3TRIeT 0T G W BT 81 vl G W & S
2 T 98 U THH UM ST S SHR! TN orE-
g @ § fopar s
39.

If closing stock is shown in trial balance, then it
will be shown in :

Tfe sifem wefoat deme # femmen wer €, @ a8
fegman s -
(a) Trading Account/ STIR T |
(b) Profit & Loss Account / AT9-g1 ©d §
(c) Profit & Loss Appropriation Account
gt fse @ |
(d) Balance Sheet / efe forg &
UK SSC Assistant Accountant 13.05.2018
Ans. (d) : 3% it @iy qerae # fewman e @ @ 9
Faa fog § dufy vt § fammn smom w=hitE Aty siftw
e defge & fearan A @ @ s o 2 f ggen
oA aY @ GEfd B ¥ geel fReAr ST g 8, 3R
77 U w A U F ¥ owerh o g g o o #
T J9 AT TR Tove § & W §1 3 SuE &
3 T @ IS H G S IR A & @ we F
40. Goods means/HTeT ST ST &:
(a) all movable property/g4t ol FHf
(b) all immovable property/q¥t 3=l GHIf
(¢) auctionable claims/-erHt RIrpic)
(d) decree/sTHa (fesht)
HPSSC Junior Accountant 2018
Ans. (a) : O & 3NE g T GERN G 81 =ZEEE
3R G 3 S S Al =i qTe et 81 A
#, 9 ure @l o @ @ 3¢ @i % w9 § forr S
21 9 WA S S 2 A 3 e F w0 F forar e 81
F ofd # o 5 A1 B =i F &9 § forar < 21
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41. Which item is shown in P & L Appropriation
fafreie @

Account?/&i= |t g ATH-gIT
o goTieht et €2
(a) Dividend declared/sfa wmeisT
(b) Discount on issue of shares/37¥1 i w B
(c) Non-operating expenses/ﬁ?—‘ﬁﬂT%ﬁf g
(d) Current Assets/aTe] Haferar
HPSSC Accountant 20.10.2019

(d) Net profit fewer expenses of the period
Y& A T 37Ef F T 7

HPSSC Accountant 01.08.2021
Ans. (b) : THa A fosg A1 & @ra W i fosnt
? T AU @i ¥ fewrEn S 8 R env-er @ §
TEAARA T ST 81 Hohel @1¥ o SAMR @id H Feded
=9 &I S skl 3R sifem wlar 4 e | oaw
e e 2 |

Ans. (a) : A9 A=A @@, e @ @&
foraR 21 7% URER ¥ gefd gaEee S9- 9Een &
I, TEER F FHUEE, G W S, R0 W AN,
Siffe enwie onfe guERd W @ #ik 3 wW ¥
T[S/ B H WPER & A faia e s g

42. Mr. A sold goods for Rs. 50,000 which includes
a sale to a customer for Rs. 5,500 at a cost +
10%, but these goods were still in godown at

the risk of buyer. The total sales to be recorded
|

sfiu= A ¥ %, 50,000 ST WA Sem EH T
gk ol TN +10% W &. 5,500 W S=m 4w
A IHeT &, Afehd o ATr 21« off shat &t
TREw W Mo § W@ 1 g feham I aren
He faehd ... A
(a) Rs. 50,000/ F. 50,000
(b) Rs. 50,500/%. 50,500
() Rs. 49,450/%. 49,450
(d) Rs. 49,400/%. 49,400
HPSSC Accountant 2016
Ans. (a) : T faHa ¥ 50,000 ISt B S iR
e Shal & SRGH T T AT 8 SHA skl A1l

g 2 &t <o & fyeR @ amm

43. The charges of placing commodities into a
saleable condition should be charged to
T o O uiRfedfy § awget & wferems
0B L | L 2 RO T guTRe sha=T =feu)

(a) Trading account/TAX Wl

(b) P and L A/c./@m9-g1f @l

(c) Balance Sheet/qci=-93

(d) None of above/3TIH § T HiF Tk

HPSSC Accountant 01.08.2021

Ans. (b) : TH o= 7 uRftafq ¥ gqeli & ufeearT &
TR & AN-BIH W H IWRA HTE1 ARl g
@ 3ifaw @ @ e @ (@ ad % ofd # smEn o
bl § I a9 H B Al o A1 @i A SES
VeI T & THH STHCIE A9 I AT S

44.  Gross profit is/HeheT TTH %

(a) Cost of goods sold + opening stock
fasha 71T St AN + STRWF ik

45. Trading Account is a/SFTIX @Al g, Teh

(a) Personal A/c/=afhTd @Il

(b) Real A/c/arsifas @

(c) Nominal A/c/3A™He/AHHT @Idl

(d) None of these/3TH T Fi T

HPSSC Accountant 05.08.2021

Ans. (¢) : Th I AE G G 3, =, &1 AR e
¥ e UF WE @ 9 2 SE S g 8-aed
YHR ok T T g @B FON (Debit) a1 Toff FHR &
T 3R A9 B G (Credit) | 399 &L 8- Trading

A/C, Interest Account, Salary Account, Profit & Loss,
Purchase Account, Rent Account, Sales Account 31< |

46. If opening stock ¥ 50,000, purchases ¥ 1,50,000,
wages < 20,000, closing stock ¥ 40,000 and gross

1
profit is — of the sale then what is the amount

of sale?
Tfe URiteR @l T 50,000, s T 1,50,000,
Twglt T 20,000, 3ifew wh=er T 40,000 & Tew

HaeheT oy forehd oAt %‘%,?ﬁﬁamaﬁrr&w

Brft?
(a) ¥ 1,80,000
(c) ¥2,00,000

(b) Z2,10,000
(d) 2,17,000
CG AAO 2015

Ans. (b) : Cost of good sold =?
Opening stock + purchase + wages — closing stock
50000 + 150000 + 20000 — 40000
Cost of good sold = 180000
Gross profit = sales — cost of good sold
or COGS = Sales — GP
Let, Assume Net sales = 700x

Gross profit = 700x x % =100x

cost of good sold = 700x — 100x
= 600x
where —
600x = 180000
_ 180000
600
Sales = 700 x 300 =2,10,000

=300

47. Preliminary expenses are shown in the balance
(b) Excess of sales over cost of goods sold sheet under the head :
fershd ATeT i AT W SHAfdih forsht yRitwes = farg ® e sftder o arefim gottan
(c) Sales fewer purchases/fSshl 53 &1 ST 8 ST &=
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(a) Reserve and surplus/99d Td 3R

(b) Investments/ffamT

(c) Loan and advances/®0T Ta 3130

(d) Miscellaneous expenditure/fafars =

CG AAO 2015

Ans. (d) : fofay =@ smeits =g 8 5= fafmion, fosh
I e =9 F w9 § Fiffga T fHar ST g 2
33T TR =, e =g S e 3R fes=R
TeH W T e IRwss = & g o fafow =19
i & 37efieT qurtar ST |
48. A purchased goods costing ¥ 1,00,000. B sold

the goods for ¥1,50,000. Profit sharing ratio

between A and B equal. If same sets of books is
maintained. What will be the final remittance?

A 9 T 1,00,000 ST AT T WIeT @SN B
et T 1,50,000 W ST A 94T B o siter oie
fauem orguT W #1 afE gEAeRt @ U &
W FHATIT AT §, F {fere Yoo s giemr?
(a) B will remit¥ 1,25,000 to A

BZ1,25,000 A s ST
(b) B will remit  1,50,000 to A

B ¥ 1,50,000 A T ST
(¢) A will remit ¥ 1,00,000 to B

A% 1,00,000 B T ST
(d) B will remit ¥ 25,000 to A

B 25,000 A &I 95T

CG AAO 2015

Ans. (a) : A 7 A GlET = 100000
B 7 W& 94T = 150000
oY = 50000
A A AT GEE ? A A 3R B ® I 1/2
BT
A =50000 x %: 25000
B =50000 x %: 25000
B ERT A & ST T = AN + AT
=100000 + 25000 = 125000
Interest on drawings is :
TR T AT BT §—
(a) Gain for the business/=aHd &I 3T
(b) Expenses for the business/aH™ & T4
(¢) Loss for the business/sHa€rd &l g4
(d) None of these/3TH T FiE T
CG AAO 2015
Ans. (a) : 3TEUT R = T T T GF &1 7 8t 21
T AW g RS @ % sfee § R s 8 i
BT W A FH & goft ARl & fow @ g @ g
S @ % e e i v ST 81

49.

50. Calculate from the following informations :

Profit of the year

T GomTett ¥ TUET AT : a6 T AT
Capital in beginning ¥ 80,000

e 5 USh € 80,000

Capital at the end ¥ 90,000

3fa =t USh 90,000

Drawings ¥ 18,000/37T&0T ¥ 18,000

Capital introduced in mid of the year ¥ 5,000

oo & e H g e YSit T 5,000
(a) T 20,000 (b) ¥ 23,000
(c) 25,000 (d) ¥ 28,000
CG AAO 2015

Ans. (b) : ST & Gt = 80000

LRI
SR = 18000
= 62000
Sirer
a9 % wer § @M gt = 5000
o & gRfe St = 67000
a9 & ofd § ¢eft = 90000

e = sifad gst — aRfwe IS
=90,000 — 67000
Y = 23000

51.

Calculate from the following informations :
Drawing of current year/f== H\Waﬁ | U

I : =7e] o T ATE0T
Capital at the beginning of year ¥ 15,600
oY o YRET wht Uit € 15,600
Capital at the end of year ¥ 14,000
od o 3FF il USit T 14,000
Additional capital introduced in current year ¥
2,000/=Te] Td T SAfefh St % 2,000
Profit earned during the year ¥ 1,200
ey Y Rt AfSa At T1,200
(a) I 4,400 (b) ¥ 4,500
(c) ¥4,800 (d) 5,400
CG AAO 2015

Ans. (¢) : 9 & T FH Gt =
et

a0 a9 & AR gt = 2000

A s @1 I AW = 1200

18800

Sl a9 & 3 el = 14000

AT Y T TR = 4800

15600
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Bills of Exchange (faf=ar ferae)

L.

52. With respect to bill of exchange, which of the

following statements is incorrect?

fafrma fausr & e , frefafaa & @ =
T A TEAq &7

(a) Payee: He is the person to whom the amount

of bill is payable/ITwiehdl: a8 =afth & 5@ forer
i 2T 7

(b) Drawer: He is a person who draws the bill.
Typically, he is the seller or a creditor/3T&d-
7 U A ¢ S foel fofa 81 SHAN W a8
fersheT a1 ieR B 21

(c) Endorser. He is the person is whose favour
the bill is endorsed by the drawer/J®Iheh-8
=R g 8 s ww # emedt g faa @
quef fopar S 2

(d) Drawee: He is the person on whom the bill is

drawn/3TeThdl-a8 A6 gl % g W fua
IR feran s 2 |
UPRVUNL Assistant Accountant 15.05.2022
Ans. (c) : o fmm & gamy § fased (c) 39 21
feforerer forer o werpr ot 2-
1. 3MMgdl- 3Y=IT 34 arct &l 3Medl & &9 § A7 S
%@ﬁmﬁmél%mmm
|
2. 3NSTehdl- 37EEhdl 98 =Afh gial @ o | fae dan
e < 2 |
3. IeraT- R e 1 Ul @ e e S g s
e % &9 H S S 2
4. YBicheh- 98 ARk S fhdl g i gwifad e
2 39 =% (Endorser) Fgl ST &
5. ygiferdi- @ =it &t foed @ yeied
(Endorsement) NI @&fidRd fhar Sar & SH
gwifshdl (Endorsee) &1 ST 21

With respect to Dishonour of a Bill, which of
the following statements are correct?

Tereft foret & 3TeT & o o, afefga # 9
I T HAT TE 8?2

(i) Dishonour of a Bill means that the acceptor
refuses to honour his commitment on due
date and for this, payment of the bill on
presentation does not take place./ﬁﬁ'{ff foret

* AT wr Fd & T iRt e
g W IOt wfeergar o g 1 o
AR T AT § R 39 forw forer &t e

53.

(iii) The fact of dishonour which he is recording
is called 'noting' and the amount charged by
him for his services are called 'noting
charges'./3TTEX T e W Rewre feram rar

T 3/ ‘T’ wEr Srar A7 SHWR g uAr
Famett o T oft s areft widt @ AT
TS SRET ST B

() Only (ii) and (iii) /&9 (ii) 31 (iii)

(b) Only (i) and (iii)/&ae (i) 3T (iii)

(c) All (i), (ii) and (iii)/® (i), (ii) 3 (iii)

(d) Only (i) and (ii)/39a (i) 3 (ii)
UPRVUNL Assistant Accountant 15.05.2022

gns.(c):faﬁr%ra%mm%mﬁﬁmaﬁmw

1. fof foe % o &1 o1 2 fo el frea
TG W Y Tasd & = FH T IHR B
M § SN 3HH U e 1 P ST W Suersy
T B B

2. SR F HL TR IUAH FAH &k AT IR H
27 &1 el ufsas g7 faet W e e S 81

3. U Al ufes uh weee SRl g 8 R
TS9 THR R 4T 9 Hf Y H Weg A &
fore frges fepam STt 21

4, IR H qe S Repre fpam Sem @ s§ AT @

S 8 SN 3UH g o Hawdt % fow o WM

arelt T B AT =Sl e S 2

Commuted pension received by a government

employee is :

T WEN wHA g W e s,/ TRy

ﬁm%

(a) Fully exempt from tax u/s 10 (10A)(1)/€Q

10(10A)(i) % &d ¥ TE ¥ & ¥ T
(b) Exempted upto Rs. 5,00,000 per annum/Sfd
a9 5,00,000 . T B
(c) Exempted upto Rs. 2,00,000 per annum/dfd
a¥ 2,00,000 I T H BT
(d) Fully taxable/T8 T& ¥ X A
UPRVUNL Assistant Accountant 15.05.2022

Ans. (a) : IR A=A 1961 & 9@ 10(10A) &
Teq U TWHN FHAN 5 I THYed 99 O T@ 9
FH T Bl
Tt Sl § e e 21
1. &% TWHR F HHAH
2. U9 TSR & FHAIR
3. T MR % SiE
4. TS Fuirs O & HEEd

54.

WW@@W%I 55. Which of the following are regarded as the
o . : : : features of a bill of exchange?
(ii) To provide legal evidence of dishonour is to . 8
be noted on the bill by 'Notar frrafafaa & @ fra fafram foe =t fagraar
Public'./3TTqX <Al EFITFI‘ AT 3UcTeRT T Tt 87
& fe@ 3R &% q%T W A ufsetes grr (i) It's an instrument in writing
farer e foman e f) T fofiad &0 o Teh ST 2
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(ii) It contains an unconditional order
TH =T uTd 3T Inhirer
(iii) It's signed by the maker
T BT EETEIRA
(iv) It's drawn on a specific person
Ig Uek Tt =rftw st et §rar 1
(a) All (i), (ii), (iii) and (iv)/@4 (i), (i), (iii) 3 @iv)
(b) Only (ii) and (iv)/év_cl?r (i1) 3 (iv)
(c) Only (i), (ii) and (iii)/év_cl?r (1), (i1) 3R (iii)
(d) Only (i) and (ii)/%?f )] 3 (i1)
UPRVUNL Assistant Accountant 15.05.2022
Ans. (a) : fafma fao & feard fr @-
7z fofad &9 & g1 =g
7 fifene dor fomfar g semelRa g 21
T o O R AT P B SR 2
T8 U faftre =afe @ formn s @
T HW H W A 9 BN o- T SR o A 3R
TS A B are |

In India, the
for bills of exchange.

R H, faferenT & forett & Wrererm=t hr
Forifra s 81
(a) Sale of Goods Act, 1930
A1 St feshl SAfEfAEm, 1930
(b) Indian Contract Act, 1872
AR ey AffEm, 1872
(c) Negotiable Instruments Act, 1881
gk forad stfefaad, 1881
(d) Companies Act, 2013/&F1 3ffaf=m, 2013
UPRVUNL Assistant Accountant 15.05.2022
Ans. (¢) : YR § Wy fored stfafraw, 1881 fafram
% faei & wEgE & FEfg w21 gehe foed
s, 1881 & 9T 13 & oTUR- T ‘foawd &
ad U g W, fAfma faw @ =9 A SRy &
ek 1 3T 2| ThT foRad I T TH e 2
57.

[SAIE S I e

governs the provisions

If a bill is drawn (not payable on demand) on 1
April 2022, for four months, the due date or
date of maturity will be:

Tfe g faret 1 3lieT 2022 & o1 T & g

foreRtent ST € (| W e™ =€), v o fafy

1 Uftueredr st A gift:-

(a) 3 August 2022/3 3TE 2022

(b) 7 August 2022/7 3TT& 2022

(c) 2 August 2022/2 3TTE 2022

(d) 4 August 2022/4 3TT&ET 2022

UPRVUNL Assistant Accountant 15.05.2022

Ans. (d) : I FE faed 1 30 2022 & TR 7EH & foag
e ST 8 (A W g A9 a2 fafy @ gRueer
# Tig o & s fvu 79 fegw # 4w Sied W 1
s & fafy emerft Rd 3 o faew St W
gRueaar fafr 4 sy &l
Ify gRugadr iy w 1 v sEEw @ @ fae &
Ruereer fofr ws fo weer @l

58. With respect to type of Bills of Exchange,

which of the following statement/s is/ are
correct?

fafrma o foell & yanml & deier o, ffeiaa
T ¥ hIF-AT/ HIT T &2

Statement (I) : Trade bill: This bill is drawn to
settle a strade transaction/&IT -1 SR ToreT:

g ot Teh =R &= <7 & e & fau
IR femam = §1

Statement (ITI) : Accommodation bill: This bill
is used without a trade transaction and is for
mutual benefit/HAT -11 3a® T -ug foaeT

formr fereft =R &1 3 o SwET feRaT T §
3R urEfes o % forg #
(a) Both Statement (I) and statement (II) are
correct/ (I (I) 3R FH97 (11) 1 T& 21
(b) Only statement (I is correct
Fad H9 (1) T 2
(c) Both Statement (I) and statement (II) are
incorrect/ A HI (I)aﬁT $gq (IT) TAd 2
(d) Only statement (I) is correct
el Ho (1) T B |
UPRVUNL Assistant Accountant 15.05.2022

Ans. (a) : fafma et & w&r f @8-

1. femiz = =it - =@ fa @i 99 W 3 A 2
foret & sprae @ S Bl il T @ e
o & S off sqa A S @ @ T s
A Y fm S 2 |

2. SR foed- 39 THR # o had SR ¥ geftE
o 3 i fues § w2 fhar s g

3. fooft foet- o & @Y e feu ST weA A
o & folt e @ s @) et fa % A
IR ¢ - frafd e SR s e

4. Tradht foret- o= ws e fow ¢ fwer orf @ f
e fif gug sy & o fhar S @ st
5a foet aRued & 79 SHH I R S 2

5. A fore- 78 fod o SR oFeq & oTadt 7eg
% fou wier fFar s 21w R off gme
Hareit =t fos a1 wiiw wfve 7@ 21 g% foer & wei
% d9 T T ORiT G yeH F % 37y
Y <A1 ST R

A bill drawn
consideration is :

T foe S fomn wfawer & foran oiv wier
fera T §—
(a) Trade bill/=mie feret
(b) Accommodation bill/ggraard faret
(c) Foreign bill/faesf faer
(d) Demand bill/AIT R 27 fae
RPSC Junior Accontant 2011

59. and accepted without
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Ans. (b) : wgrIaret ferer (Accommodation Bill) : S
foa fomm sfawa & TH-qW & TEEdd e qu @R
fFr m &, @ ¥ fodl F werad W R
(Accommodation) foeT #ed &1 Heraad faet &I st
fael (Fictitious Bill), 97 fael (Kite Bill) =1 g forct
(Wind Bill) 9 %ed &1
weraard faer foae =t fafaai—
(1) & hael @ H TSI & fore foe forar sm
(2) 9@ TH BN I GIHN h IRERS AW & o
foer fora|
(3) 5@ 3T I & I H TH FeR feanferan & 5|

60. Which of the following refer to Bill of
Exchange?

forer  § @19 & W farfma-us @ Heg 87
i. The maker is the debtor./ci@eh Ut BidT 21

ii. The liability of the drawer is secondary and

conditional/fSel & SR & q TOT TH
T e 2
An unconditional order to pay.
e e
Correct answer is/Hgl 3T ‘%‘
(a) iandii/i 3N ii
(c) iandiii/ i 3N i (d) onlyl/%ﬁ i
RPSC Junior Accontant 2013
Ans. (b) : [FHa-99 TH fafegd IRREd SSI-TF B
% 50w @fe W AR F W A IWF W
fdfor ot =afss &1 wah fafa smafyr % vgm ws fAfem
TAH F F R o 81 fafma-w § sews &
[t TioT B 21
a: &3 T8 wE H W HA (ii) SN (iii) T B

iii.

61. Due to date of a bill of exchange drawn on 30"
January 2015 for one month will be
30 =&, 2015 W Tk e o faw smeia
forer =t fafer gnft
(a) 29™ February/ 29 ®Ed
(b) 3 March/ 3 T
(c) 4 March/ 4 wrd
(d) 5 March/ 5 T
UPPCL Assistant Account 20.11.2016
Ans. (b) :
Due date for Bill drawn on 30" Jan = ?
Date of Bill Drawn =30 January
Date of Duration =1 Months
28 February
Add Days of grace 3 days
Maturity Date 3 March 2015
62. Encashing the bill before the date of its

maturity is called

TRuererar st fafer & uget & foe g 6 et

(a) endorsement of bill/foe T 3TerEA
(b) retirement of bill/forel 1 ST

(c) discounting of bill/felel =T TTgTehTUT
(d) dishonour of bill/ferel TSR HLAT
UPPCL Assistant Account 20.11.2016
Ans. (¢) : {5 &t 37 fafyr ¥ 4o 5% g1 fot
FhHAHLUT AT ‘T T TZHWUT AT Discounting of Bill
Fed &1 AR FE et 3 W F forg foran w e =9 3
TR F Id & S § o o S @ 9% Ign S ¢ |

63.  What is the definition of Trade bill? /TR

forer =t ufReman == €7

(a) A bill drawn, accepted for the purpose of a
genuine trade transaction./Tsh AR IR
T H I & AU TAR A T s |

(b) A bill of exchange that is payable on demand
or at sight or when presented.
TR W e S oA A gy ¥ 3w R A oW
T foRa I &

(c) A bill which specifies the time period for the
payment./Th foret St AT % forw g erafy
fafde @ 21

(d) It is a bill which is accompanied by
documents confirming genuineness of trade
transaction that took place between buyer and

seller./78 T T foar & Fed =R o
1 AT H UY FH G S&dES & Y
B & S iR 3R fahar & e ga o
UPPCL Assistant Account 09.02.2018
Ans. (a) : SARE foed 98 997 ¢ frge yam faT sfafes
¥ {5 S ATt sha-foshd & S # fhar ST 81 SR
F BT UH SUR W& F OE & O g fae & @
T fa S 1 MeR g o T fael @ 3ER
R Har ¢ 3R a9 gy fad &6 £
A E1 T T b e Famhd H g€ I F SER W S
forer for@ o € 3 =Auils o sea &1
3: I8 fIhed (a) “UF ATfaS AR AT & 32YT &
fore far foman e us e W@ @)
64. Whatis the definition of Demand bill?
feuig forer it wftameT == §7
(a) A bill of exchange that is payable on demand
or at sight or when presented.

T o foet ST A A g ¥ W E A o
TEA fha ST 2

(b) A bill which specifies the time period for the
payment./T% faa St A= & fow w97 srafy
fafdy e 21

(c) It is a bill which is accompanied by

documents confirming genuineness of trade
transaction that took place between buyer and

seller./38 T&h QW o % S99 =R deed
I ardfaedr @ qf¥ R e IEs & 9
AT & St @R SR fhar & i gam e

(d) None of these/3T8 & &g off T&t
UPPCL Assistant Account 09.02.2018
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